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6818 206 £ E-BIEAR 576-671 |G)=Z /Y 19t AN —L1E#H0.38mm 2 /SXN-150-38.24 103 = 114 - = - - = - - = -
6818 206 £ E-EERS 576-676 |G)=ZEhE /Y ybAM)—A1BHE0.38mmANM7 L—/SXN15038.48 103 = 114 - = - - = - - = -
6818 206 EELE-EEMM 576-677 |G)=Z$RE/Y 1y AN —LHBHE0.38mm74 ")/ SXN15038.51 103 = 114 - = - - = - - = -
6818 206 £ E-EERAS 576-674 |G)=ZERE /Y ybAM)—A1BHE0.38mm7A V4’ —/SXN15038.34 103 = 114 - = - - = - - = -
681H 206 | E-BERAS 576-678 |G)=ZERE/V 1y AM)—LA1E#H0.38mm7 773y t/SXN15038.54 103 = 114 - = - - = - - = -
6818 206 £ E-EERS 576-672 |G)=ZERE /Y ybAM)—L1BHE0.38mm F~/SXN-150-38.15 103 = 114 - = - - = - - = -
681H 206 | E-BERAS 576-673 |G)=ZENE /Y 1ybAM)—L1E#H0.38mm F/SXN15038.33 103 = 114 - = - - = - - = -
6818 206 £ E-EERAS 672-657 |G)=ZERE/Y ybAM)—A £ 0.5mm/SXN15005.24 103 = 114 - = - - = - - = -
6H1H 206 ERRE-EEAR 691-350 |G)=EE$nZE /Y ybAM) =L 247 )b— 0.5mm/SXN15005.48 103 = 114 - = - - = - - = -
6818 206 £ E-BERAS 691-352 |G)=Z$nEE/Y ybAMN =4 F4FE™YH 0.5mm/SXN15005.51 103 = 114 - = - - = - - = -
6818 206 ERE-BEAR 672-659 |G)=ZEE/V ybAM -4 F& 0.5mm/SXN15005.15 103 = 114 - = - - = - - = -
6818 206 | £ E-BEAS 683-663 |G)=ZRE/ Y ybAMN -4 F 0.5mm/SXN15005.33 103 = 114 - = - - = - - = -
6818 206 EiLE-EERAM 626-797 |G)=ZHRE /Y 1ybAM)—L0.7mm B/SXN15007.24 103 = 114 - = - - = - - = -
6818 206 £ E-BERAS 698-963 |G)=ERE /Y 1ybAM)—A 0.7mm 7K /SXN15007.8 103 = 114 - = - - = - - = -
6818 206 ELE-EERAM 626-798 |G)=ZRE /Y 1ybAM)—A0.7mm Fr/SXN15007.15 103 = 114 - = - - = - - = -
6818 206 £ E-BERAS 626-799 |G)=ZEE/Y yrAMN—4L0.7mm FH/SXN15007.33 103 = 114 - = - - = - - = -
6818 206 ELE-EIERAM 626-800 |G)=Z$RE /Y 1ybAM)—L1.0mm B/SXN15010.24 103 = 114 - = - - = - - = -
6818 206 £ E-BERAS 626-801 |G)=ZEEE /Y yr AN —A1.0mm FR/SXN15010.15 103 = 114 - = - - = - - = -
6818 206 EiLE-EERAM 626-802 |G)=ZE$RE /Y 1ybAM)—A1.0mm F/SXN15010.33 103 = 114 - = - - = - - = -
681H 206 FiLE-EERAR 925-208 |G)=ZEHE /Y ybA)—A 0.38mm E104/SXN-150-38.24 941 = 1,046 - = - - = - - = -
6818 206 £ E-BIERAS 925-209 |G)=FE$E/V ybAMN -4 0.38mm FR10A/SXN-150-38.15 941 = 1046 - = - - = - - = -
6818 206 £ E-BERAS 672-658 |G)=Z /Y ybAM -4 £ 0.5mm 104/SXN15005.24 941 = 1046 - = - - = - - = -
6818 206 £ E-BIERAS 691-351 |G)=E$nE /Y ybAM =L ZH47 )b— 0.5mm 10K 941 = 1046 - = - - = - - = -
681H 206 ERRE-EEAR 691-354 |G)=ZEE /Y ybAM)—A 1YY 0.5mm 10K 941 = 1046 - = - - = - - = -
6H1H 206 EiLE-EIERAM 453-435 |G)=Z/SXN15005.34(10&)7A V4 =/ b AM)—40.5mm 941 = 1,046 - = - - = - - = -
681H 206 ERRE-EEAR 672-660 |G)=EERE/Y 1ybAM)—A FF 0.5mm 104/SXN15005.15 941 = 1046 - = - - = - - = -
6818 206 EiLE-EIERAM 683-664 |G)=ZEhE/Y ybAM)—A F 0.5mm 104K/SXN15005.33 941 = 1046 - = - - = - - = -
681H 206 ERRE-EEAR 626-803 |G)=ERE /Y 1ybAM)—L0.7mm & 104/SXN15007.24 941 = 1046 - = - - = - - = -
6818 206 EiLE-EIERAM 698-964 |G)=ZE$RE/Y TybAM =LA 0.7mm JKE 1074/SXN15007.8 941 = 1046 - = - - = - - = -
6818 206 ERRE-EEAR 453-436 |G)=Z/SXN15007.6(10A)&H & &/ 19bAM)—4 0.7mm 941 = 1046 - = - - = - - = -
6818 206 EiLE-EIEERAM 626-804 |G)=ZEHE/V 1ybAM—A0.7mm Fr 104/SXN15007.15 941 = 1046 - = - - = - - = -
681H 206 ERRE-EEAR 626-806 |G)=EERE/Y 1ybAM)—A0.7mm F 104/SXN15007.33 941 = 1046 - = - - = - - = -
6818 206 | EiRE-BEAR 626-807 |G)=ZEHE /Y ybAM)—A1.0mm & 104K/SXN15010.24 941 = 1,046 - = - - = - - = -
681H 206 ERRE-EEAR 626-808 |G)=ERE /Y 1ybAM)—A1.0mm F& 104/SXN15010.15 941 = 1046 - = - - = - - = -
6818 206 EiLE-EIERAM 626-809 |G)=ZEHE/V ybAM)—A1.0mm F 104/SXN15010.33 941 = 1046 - = - - = - - = -
581H 208 | £ E-EEA&R 758-376 |G)=EE/1-K"—IYY /) 13544~ 0.5mm £/UM100EW.24 76 = 67 - = - - = - - = -
5818 208 £ E-EERS 758-385 |G)=ZEHE/1-K —IYY'/ 1354%— 0.5mm Fr/UM100EW.15 76 = 67 - = - - = - - = -
5A1H 208 | £ E-EEA&R 758-394 |G)=ESnE /1=K -IYY' ) 1154/5— 0.5mm F/UM100EW.33 76 = 67 - = - - = - - = -
5818 208 £ E-EERS 613-366 |G)=ZF$ME/1=K LYY/ 13548— 0.5mm £ 10K 739 = 667 - = - - = - - = -
581H 208| £ E-EIERAS 628-380 |G)=ZEE/1-K -IYY/ 1354%— 05mm F 10K 739 = 667 - = - - = - - = -
5818 208 £ E-EERS 628-381 |G)=FE$E/1-K YY) 13548— 05mm F 10K 739 = 667 - = - - = - - = -
5818 208 | EiCE-BIERAS 600-563 | =ZESRE/1-K —IYY /iBIEH 0.28mm £/UM15128.24 114 = 105 - = - - = - - = -
5818 208 | =R E-EEAR 600-564 | =EEE/21-K -IYY /BB 0.28mm F~/UM15128.15 114 = 105 - = - - = - - = -
5818 208 | EiCE-BIERAS 626-820 | =ZESRE /1K -NYY /#BIEH 0.28mm F/UM15128.33 114 = 105 - = - - = - - = -
5818 208 £ E-EERS 627-151 | =Z$hE/1-K -V Y /i B18#H 0.28mm 7 V—=7'39% 114 = 105 - = - - = - - = -
5818 208| it E-BIERAS 600-565 | =ZEE/1-H —-IYY /48HE 0.38mm E/UM151.24 114 = 105 - = - - = - - = -
5818 208 EFLE-EERS 600-566 | =ZEEHE/1-K -y /48# 0.38mm Fr/UM151.15 114 = 105 - = - - = - - = -
5818 208| it E-BIERA&S 626-821 | =ZEME/21-K -IYY /48H1 0.38mm F/UM151.33 114 = 105 - = - - = - - = -
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581H 208 £ E-BIEASR 627-152 | =% /1=K —IY) /48HE 0.38mm 7 V—7'7v9/UM151.64 114 = 105 = = - = -
581H 208 EiLE-EERAM 626-825 | =ZZEHRE/1K -NYY ) KFE 1.0mm £/UM153.24 114 = 105 - = - - = - - = -
581H 208 | £ E-BERAS 626-826 | = ZEHRE/1K —IYY ) K 1.0mm F=/UM153.15 114 = 105 - = - - = - - = -
5818 208 £ E-EERAS 672-667 |=ZEME/1-K - ILY) /BB HA 0.28mm £ 104 1,109 = 997 - = - - = - - = -
581H 208 | £ E-BERAS 672-668 | = ZEHNE/1-K -4 /EBIBHE 0.28mm Fr 10K 1,109 = 997 - = - - = - - = -
581H 208 EiLE-EERAM 628-410 | =ZFHRE/1K VY5 /46HE 0.38mm & 104 /UM151.24 1,109 = 997 - = - - = - - = -
581H 208 | E-BERAS 628-411 | =ZE8hE/1-K -y /48H1 0.38mm 7k 10AK/UM151.15 1,109 = 997 - = - - = - - = -
581H 210/ £ E-BERAS 628-375 | =M% /1=K LYY /RT 540 0.38mm £ 10K 729 = 698 - = - - = - - = -
581H 210/ E-BEAS 628-376 | =EHE/1-K -IYY/RT 541 0.38mm 7R 10K 729 = 698 - = - - = - - = -
581H 210/ £ E-BERAS 628-377 |ZZEME/1-K LYY /RT 540 0.38mm F 10K 729 = 698 - = - - = - - = -
5818 210 £ E-BEAR 628-372 | = ZERE/1-K -IYY /RT 0.5mm £ 104/UMN105.24 729 @ 698 - = - - = - - = -
581H 210/ £ E-BERAS 628-373 | =& ME/1-K LYY /RT 0.5mm 7= 104/UMN105.15 729 = 698 - = - - = - - = -
5818 210 £ E-BEAR 628-374 | = ZEE/1-K -V /RT 0.5mm F 104/UMN105.33 729 @ 698 - = - - = - - = -
6818 213 £ E-BERS 698-965 |G)=EERE/V ybAM)—AIBK —AV0.5mm £ 280 = 311 - = - - = - - = -
6818 213 EEE-BIERAM 698-968 |G)=ZRE /Y 1y AM)—L3EH —IA'V0.5mmE /SXE340005.1 280 = 311 - = - - = - - = -
6818 213 £ E-BERS 672-669 | =ZEhE/Y ybAM-AIBK —IAV0.5mm FR/SXE340005.15 280 = 311 - = - - = - - = -
6818 213 EEE-EIERAM 698-970 | =ZEhE /Y ubAM-A3BEK —IAV0.5mm F4E— 280 = 311 - = - - = - - = -
6818 213 £ E-BERS 647-168 |G)=ZEhE/Y 1ybAM-A3EK -IAV0.7E2/SXE340007.24 280 = 311 - = - - = - - = -
6A1H 213 | EEE-EIERAM 647-169 |G)=ZRE /Y 1y AM)—L3EH —ILA"V0.7:5 88 /SXE340007.T 280 = 311 - = - - = - - = -
6818 213 £ E-BERS 698-972 | =ZERE /Y 1ybAM)-AIBEK —IAV0.TmmIK & /SXE340007.8 280 = 311 - = - - = - - = -
6818 213 | EEE-BIERAM 698-974 | =Z8RE/V b AMN)-L3B K —IAV0.Tmm E'VY 280 = 311 - = - - = - - = -
6818 213 £ E-BERS 698-966 |G)=ZEHE/Y ybAM-A3EK -IAV05mm £ 10K 2562 = 2847 - = - - = - - = -
6818 213 EEE-EIERAM 698-969 |G)=ZEHE/V ybAM-A3BEF -IAV0.5mm B 10K 2562 = 2847 - = - - = - - = -
681H 213 | E-EEA&R 672-670 | = ZE /Y 1yb AN —L3E KN —)L0.5mmR 104 /SXE340005.15 2562 = 2847 - = - - = - - = -
6818 213 EEE-EIERAM 698-971 | =ZZEIRE/V AN -L3BH —IAV0.5mm 24— 10K 2562 = 2847 - = - - = - - = -
6H1H 213 | E-EEA&R 672-671 |GQ)=ZFE/V AN -L3EBE-N0.7TmmEI10K 2562 = 2847 - = - - = - - = -
68180 213 £ E-BERS 672-672 |G)=F$E/Y b AN -L3E K —10.7mmB B 10K 2562 = 2847 - = - - = - - = -
681H 213 | E-EEA&R 698-973 | = EME/V b AN -L3BEKR -IAV0.7Tmm JKE 10K 2562 = 2847 - = - - = - - = -
6H1H 213 EEE-EIERAM 698-975 | =EERE /Y ubAM-A3BEKF -IAV0.Tmm EVY 10K 2562 = 2847 - = - - = - - = -
6818 213| £ E-EEA&R 678-691 | =ZEhE /Y tybAM)—A48&1 SHEEE 0.7mm 7'7v) 720 = 800 - = - - = - - = -
6H1H 213 EEE-EIERAM 678-692 | = E /Y 1ybAM)—L4&1 SHERE 0.7mm - 720 = 800 - = - - = - - = -
6818 213 | E-EEA&R 678-693 | =ZEhE /Y TybAM)—A48&1 SHEBE 0.7mm KL - 720 = 800 - = - - = - - = -
6H1H 213 EEE-EIERAM 698-982 | = Z /Y 1y AM)—L4&1 0.7mm VILin'—/MSXE510007.26 720 = 800 - = - - = - - = -
6818 213 | E-EEA&R 698-981 | =ZEE /Y b AM)—4L4&1 0.7mm #74+/MSXE510007.1 720 = 800 - = - - = - - = -
6H1H 213 EEE-EIERAM 698-986 | = ZE$RE /Y 1ybAM)—L4&1 0.7mm E'V9/MSXE510007.13 720 = 800 - = - - = - - = -
6818 213 | E-EEA&R 698-984 | =ZEHE /Y 1ybAM)—A481 0.7mm 5447 )b—/MSXE510007.8 720 = 800 - = - - = - - = -
6H1H 213| £ E-EEAR 698-983 | =ZEHE /Y 1ybAM)—A48&1 0.7mm ¥')—Y/MSXE510007.6 720 = 800 - = - - = - - = -
5818 215| &t E-BIERAGS 660-434 |£'7°3/MMER —ILAVEBRH-0.7:% £ 10K/BR-6A-H-BK 420 = 380 - = - - = - - = -
6H1H 216 £ E-EEAR 589-148 | =%/ mytAM)-L7'71 L BIERIRHE KX LHEREAY 381 7799 3,600 = 4,000 - = - - = - - = -
6818 216| £ E-BEAS 589-150 | =2 /¥ 1ybAMN)—4L7"71L EIERiEH K ZHEEEA"Y 3&1 EV) 3,600 = 4,000 - = - - = - - = -
6H1H 216 £ E-EEAR 646-409 | = EEE /Y b AN =4 K =IAVE 0. 7mmE /SXR20007.24 144 = 160 - = - - = - - = -
6818 216 ZitE-BIERAS 646-410 | =ZZE/V b AN =4 & =AY EE 0. 7mmFF/SXR20007.15 144 = 160 - = - - = - - = -
6H1H 216 R E-EEAR 646-411 | ZEME/V obAMN =4 &' =AY 0. 7mm T /SXR20007.33 144 = 160 - = - - = - - = -
5818 216 ZitE-BIERAS 660-575 | = E/HIERN LAV ImmE R B 104/S7L.24 457 = 420 - = - - = - - = -
5818 217 | E-EEAR 660-848 E%f"%m R —WAV05mmE S & 104/SA5N.24 609 = 560 - = - - = - - = -
5818 217/ &5 E-BERAS 660-846 | =ZESRE/MIER —IAV05mmEE T FR 104 /SA5N.15 609 = 560 - = - - = - - = -
5818 217 | E-EEAR 660-584 Eﬁf"%m R =WAV0.5mmE S H 104/SA5N.33 609 = 560 - = - - = - - = -
5818 217/ E-BERAS 660-853 | =ZZESRE/HIER —IA V0. TmmE T B 104 /SATN.24 457 = 420 - = - - = - - = -
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581H 217|E5EE-BERAS 660-850 | =ZE N/ MIER —IAV0.TmmE R R 104 /SATN.15 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-855 | =ZEERE/HMER —IAV0.TImmE S B 104/SATN.33 457 = 420 - = - - = - - = -
581H 217|E5EE-BERAS 660-859 | =ZEE/MER —IAV1L.0mmE R £ 104 /SA10N.24 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-857 | =ZE/HMER —IAV1.0mmE S 7R 104/SATON.15 457 = 420 - = - - = - - = -
581H 217|E5EE-BERAS 660-586 | ZENE/MER —IAV1.0mmE R B 104 /SA10N.33 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-488 | =ZEE/HMER -IAVLAmmEBS B 104/SA14N.24 609 = 560 - = - - = - - = -
581H 217|E5EE-BERAS 660-490 | =ZZEHE/MER —IA V1L AmmE R FR 104 /SA14N.15 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 585-591 | =ZEE/HMER -IA V1L 4mmEB S F 104/SAT4N.33 609 = 560 - = - - = - - = -
581H 217|E5EE-BERAS 660-493 | ZZEME/NJ)-490.TmmE S B 104/SNP7.24 761 = 700 - = - - = - - = -
5818 217/ £ 8- BERS 660-495 | = ZEHHE/N7-4090.7mmE RS & 104 /SNP7.15 761 = 700 - = - - = - - = -
5818 217 £ E-BERAM 660-497 | =ZEEHE/N7-4090.7mmE S F 104/SNP7.33 761 = 700 - = - - = - - = -
5818 217 £ 8- BERS 660-917 | =ZHE/HMER -IAV05mmE R 2 104/SA5CN.24 609 = 560 - = - - = - - = -
5818 217 | £ E-BEAR 660-919 | = ZEE/HMER -IAV05mmE R 7~ 104/SA5CN.15 609 = 560 - = - - = - - = -
5818 217/ £ 8- BERS 660-921 | =ZEME/HMER -IAV05mmE R B 104/SA5CN.33 609 = 560 - = - - = - - = -
5818 217 | £ E-BEAR 660-874 | ZZEME/HMER LA VLAmmE R B 104 /SA14CN.24 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-872 | =ZEHE/HMER -IAV1LAmmE R 5 104 /SA14CN.15 609 = 560 - = - - = - - = -
5818 217 | £ E-BEAR 660-581 | = ZEE/HMER -IAV14mmE R F 104/SA14CN.33 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-450 | = EE/RER LAV TImmE R £ 104/87S.24 457 = 420 - = - - = - - = -
5818 217 £ E-BERAM 660-461 | =ZSRE/HMER -IAV0.TmmE R 7k 104/87S.15 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-463 | =ZZEME/MER -IAV.TImmE R & 104/57S.33 457 = 420 - = - - = - - = -
6818 217 £ E-BERAM 585-539 | =EERE/V 1ybAMN LB FE0.38mmE i E104/SXR-38.24 630 = 700 - = - - = - - = -
6818 217 £ 8- BERS 585-565 | = ZESREE /Y ybAMN) LB 0.38mmEF it FF104/SXR-38.15 630 = 700 - = - - = - - = -
6818 217 £ E-BERAM 585-590 | =R/ 1y AN LB 0.38mmE it F104/SXR-38.33 630 = 700 - = - - = - - = -
681H 217 | £ E-EEA&R 660-595 | = ZEE/V 1yb AN -LE/A0.ImmE R B 104K/SXR7.24 630 = 700 - = - - = - - = -
6H1H 217 £ E-EERM 660-597 | =ZERE/V b AN -ABEBE0TmmE S F& 10K/SXR7.15 630 = 700 - = - - = - - = -
681H 217 | £ E-EEA&R 660-599 | = ZEME/V yb AN -LE/A0.ImmE R F 104/SXR7.33 630 = 700 - = - - = - - = -
6H1H 217 £ E-EERAM 660-601 | =ZEhE/V b AN -LAEE1.0mmE S & 10K/SXR10.24 630 = 700 - = - - = - - = -
681H 217 | £ E-EEA&R 660-603 | = ZE /Y 1yb AN -LE/E1 0mmE R FF 104K/SXR10.15 630 = 700 - = - - = - - = -
6H1H 217 £ E-EERAM 660-605 | =ZEhE/V AN -LAEE1.0mmE S F 10K/SXR10.33 630 = 700 - = - - = - - = -
681H 217 | £ E-EEA&R 660-819 | = ZE /Y 1yb AN -LE/A0SmmE R B 104K /SXR5.24 630 = 700 - = - - = - - = -
6H1H 217 £ E-BERM 660-821 | =ZEERE/V ybAM)-ABBE05mmE S & 10K/SXR5.15 630 = 700 - = - - = - - = -
681H 217 | £ E-EEA&R 660-823 | ZZEME/V yb AN -LEA0SmmE RS F 104/SXR5.33 630 = 700 - = - - = - - = -
6H1H 217 £ E-EERM 660-803 | =ZESAZE /Y AN -LAZ B0 TmmE S F104/SXR8007.24 504 = 560 - = - - = - - = -
681H 217 | £ E-EEA&R 660-805 | =ZEHHE /Y ubAM-AZE0.7TmmE S FR104/SXR8007.15 504 = 560 - = - - = - - = -
6H1H 217 £ E-EERM 660-808 | =ZEERE/V ybAM-AZ B0 TmmE K FH10A/SXR8007.33 504 = 560 - = - - = - - = -
681H 217 | £ E-EEA&R 660-826 | =ZEE/V b AMN-AZE05mmE S £104/SXR8005.24 504 = 560 - = - - = - - = -
6H1H 217 | E-EEAR 660-828 | =ZESnEE/Y ybAMN AL B0.5mmE S FR104/SXR8005.15 504 = 560 - = - - = - - = -
6818 217|E5EE-BERAS 660-830 | =ZEE/V b AM-LAZE05mmE S F104/SXR8005.33 504 = 560 - = - - = - - = -
5818 217 | E-EEAR 660-575 | =ZEE/HMER -IAV0ImmE R £ 104K/S7L.24 457 = 420 - = - - = - - = -
581H 217|E5EE-BERAS 660-577 | =ZZEE/MER -IAV0.ImmE R R 104K/S7L15 457 = 420 - = - - = - - = -
5818 217 | E-EEAR 698-836 | = EME/K -IAVERS 0.7mm F 104/S7L.33 457 = 420 - = - - = - - = -
5818 217/ &5 E-BERAS 660-896 | =ZEFRE/1-K -V /B 0.5mm £ 104 /UMRS5N.24 609 = 560 - = - - = - - = -
5818 217 | E-EEAR 660-899 | =ZEHE/1-K LYY /B 0.5mm 7’ 104 /UMR85N.15 609 = 560 - = - - = - - = -
5818 217/ &5 E-BERAS 660-894 | =FESRE/1-K -V /B R 0.5mm &F 104 /UMRS5N.33 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-901 | =EME/21-K LYY /&R 0.5mm 70-7'7v9 10K 609 = 560 - = - - = - - = -
5818 217/ B E-BERG 660-607 | ZZEERE/12h -NVY /v E R 1.0mm £ 10K 609 = 560 - = - - = - - = -
5818 217 | E-EEAR 660-610 | =ZFEHE/1-K -y /99K B 1.0mm F 10K 609 = 560 - = - - = - - = -
5818 217 B E-EERG 660-612 | ZZEERE/12h —MVY /v ER 0.7mm £ 10K 609 = 560 - = - - = - - = -
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581H 217 £ E-BEAR 660-614 | =ZEEE/21-K LYY/ /9)K B 0.7mm Fr 10K 609 = 560 = = - = -
5818 217 £ 8- BERS 660-414 | =ZFNE/1-K VY /B 0.5mm £ 104/UMR5.24 457 = 420 - = - - = - - = -
5818 217/ & E-BIERAS 660-416 | =ZEE/1-K LYY /&R 0.5mm F& 10A/UMRS5.15 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-418 | =ZEHE/1-K -y /8 0.5mm F 104/UMR5.33 457 = 420 - = - - = - - = -
5818 217 EEE-BERM 660-630 | =ZEEAE/1-K -V /B 0.5mm 7°V-7'799 10K 457 = 420 - = - - = - - = -
5818 217 £ 8- BERS 660-616 | =ZHE/1-K -y /B XF1.0mm £ 104A/UMR10.24 609 = 560 - = - - = - - = -
581H 217/ & E-BIERAS 660-619 | =EEE/21-K —IY)/EE KF1.0mm FF 10AK/UMR10.15 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-621 | =ZEHE/1-K —IVY /B XF1.0mm F 104A/UMR10.33 609 = 560 - = - - = - - = -
5A1H 217 EEE-BERM 660-623 | =ZEIRE/1-K -AYY /B KF1.0mm 7' V—7'597 104 609 = 560 - = = - = = - = =
5818 217/ £ 8- BERS 660-499 | ZEME/21-K LYY/ ES HBIEHH0.28mm £ 10K 609 = 560 - = - - = - - = -
581H 27| ERE-BERAR 660-502 | = EEE /1=K LYY/ ES EIEHH0.28mm 7k 10K 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-504 |=EZEhE/1-K - /B #B#0.38mm £ 104/UMR1.24 609 = 560 - = - - = - - = -
581H 27| ERE-BERAR 660-506 | =ZEERE/1-K —IYY /S #B#10.38mm FF 104 /UMR1.15 609 = 560 - = - - = - - = -
5818 217/ £ 8- BERS 660-508 | =ZEhE/1-K -V /B #B#10.38mm & 104/UMR1.33 609 = 560 - = - - = - - = -
5818 217 | £ E-BEAR 660-510 | =ZEERE/1-h —NYY /B 18H#10.38mm 7'V —7'799 10K 609 = 560 - = - - = - - = -
581H 217|E8E-BERS 660-512 | = ZE$RE/1-K -V /RTER 0.38mm 2 104K/UMR83.24 609 = 560 - = - - = - - = -
581H 27| ERE-BERAR 660-514 %f’:}%/r’r\“—iwﬁ“/RT%rs 0.38mm 3 104/UMR83.15 609 = 560 - = - - = - - = -
5818 217 £ 8- BERS 660-516 | =Z /1=K —ILY) /RTE S 0.38mm & 104/UMR83.33 609 = 560 - = - - = - - = -
5A1H 217 | £ E-BEAR 660-518 E%ﬁa%/l_fr\ —W9 /RTES 0.38mm 7' L—7'79% 10K 609 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-743 |£'7°7/imMER - A VB IBLH-1.615 £ 104/RLH16-BK 598 = 560 - = - - = - - = -
5818 218 ELE-EIERAM 660-748 |77/ iHMER - A VELH-1.6i F& 104/RLH16-R 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-746 |£'7'7/imMER - A VB IBLH-1.6i5 & 104A/RLH16-BL 598 = 560 - = - - = - - = -
5818 218 ELE-EIERAM 660-532 | €73/ BER —IAVESH-05 £104&/BR-8A-SH-BK 598 = 560 - = - - = - - = -
5818 218| £ E-EEEA&R 660-534 |¥'7°3/;AMER —IVAVE R SH-051 #104&/BR-8A-SH-R 598 = 560 - = - - = - - = -
5A1H 218 ELE-EIERAM 660-730 |£'7° 3/ BMHER —IAVEESH-05:% & 10A/BR-8A-SH-BL 598 = 560 - = - - = - - = -
581H 218| £ E-EEA&R 660-434 |£'7° 7/ BER —IAVERH-0.7:8 £ 104/BR-6A-H-BK 420 = 380 - = - - = - - = -
5A1H 218 ELE-EIERAM 660-436 |£'7°7/MMER —IAVEBH-0.715 & 104/BR-6A-H-R 420 = 380 - = - - = - - = -
5818 218| £ E-EEA&R 660-432 |¥'7°3/;AMER -IAVE H-0.7:% & 104&/BR-6A-H-BL 420 = 380 - = - - = - - = -
518 218 ELE-EIERAM 660-468 |77/ —IAVER H-0.7% #& 104&/BR-6A-H-G 420 = 380 - = - - = - - = -
581H 218| £ E-EEEA&R 177-960 |£'7'5/;MHER —IAVE R UK-0.51 & 104 /RUK5A-BK 598 = 560 - = - - = - - = -
5A1H 218 ELE-EIERAM 177-961 |€'7'3/iBER —IAVE L UK-0.5:8 77 104&/RUK5A-R 598 = 560 - = - - = - - = -
5818 218| £ E-EEA&R 660-570 |¥'7°7/;AMEF -IAVEBRUK-0.715 2 104&/RUK7-BK 420 = 380 - = - - = - - = -
518 218 ELE-EIERAM 660-572 |£' 73/ JBHER - IAVEBUK-0.7:% 7& 10&/RUK7-R 420 = 380 - = - - = - - = -
5818 218| £ E-EEA&R 660-755 |¥'7°7/BMEF —IAVEBRUK-0.715 & 104/RUK7-BL 420 = 380 - = - - = - - = -
5A1H 218 ELE-EIERAM 695-263 |£' 73/ BHER —IAVER K-05i8% £ 10A/BRS-6A-K-BK 448 = 420 - = - - = - - = -
5818 218| £ E-EEA&R 695-264 |¥'7°7/mMEF -IAVE R K-051 F 104/BRS-6A-K-R 448 = 420 - = - - = - - = -
5818 218| £ E-EEAR 695-265 |£'7° /B4R —IAVER K-05i% F 104/BRS-6A-K-BL 448 = 420 - = - - = - - = -
6818 218| £ E-BEAS 660-422 |£'7'5/imiER — LAV HK-0.7:% £ 104&/BR-6A-K-BK 420 = 420 398 (4~) = = - = = - = =
6H1H 218| £ E-EEAR 660-424 |£'7° 7/ MR —IAVEIBK-0.7:% 77 104/BR-6A-K-R 420 = 420 398 (4~) = = - = = - = =
6818 218| £ E-BEAS 660-420 |+'7°5/;mMER — LAV HK-0.7:% & 104/BR-6A-K-BL 420 = 420 398 (4~) = = - = = - = =
5818 218| £ E-EEAR 663-780 |£'7'3/A7AE T EQ-0.5:5 £ 10A/REQ5-BK 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 663-781 |£'7'7/A27 A& EQ-0.51% 7F 104&/REQ5-R 598 = 560 - = - - = - - = -
5818 218| £ E-EEAR 663-782 |£'7'3/A7AEts EQ-0.5:% & 10A&/REQ5-BL 598 = 560 - = - - = - - = -
5818 218| £ E-BIEAS 663-787 |£'7'3/A7AE T EQ-0.7:% £ 10&/REQ7-BK 598 = 560 - = - - = - - = -
5818 218| £ E-EEAR 663-788 |£'7'3/A7AE s EQ-0.7:% 7F 10A&/REQ7-R 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 663-789 |¥'7'7/A7AE S EQ-0.7:% & 104&/REQ7-BL 598 = 560 - = - - = - - = -
5818 218| £ E-EEAR 682-789 |+'7°7/27"3C/4CREE EK-0.7:ts & 104 /REK7-BK 598 = 560 - = - - = - - = -
5818 218| £ E-BEAS 682-793 |+'7'7/27Y3C/4CRES EK-0.7:& 7& 104 /REK7-R 598 = 560 - = - - = - - = -
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581H 218 B E-BERAS 682-791 |+'7°'7/27Y3C/4CHEE EK-0.7:& & 104/REK7-BL 598 = 560 - = - - = - - = -
5818 218| £ E-BEERAS 682-796 |+'7°7/27Y3C/4CRAE L EK-0.7;t #% 104 /REKT-G 598 = 560 - = - - = - - = -
581H 218| £ E-BEAS 663-793 |73/ Y IR —IAVE R JF-0.3i% 2 10AR/RJF3-BK 598 = 560 - = - - = - - = -
5818 218| £ E-BEERAS 663-794 |£'7°7/Y Tk —IAVE R JF-0.3:% FF 10KR/RJF3-R 598 = 560 - = - - = - - = -
581H 218/ E-BEAS 663-796 |¥'7°3/Y Tk —IAVE R JF-0.3i8 & 104&/RJF3-BL 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-470 |£'7'5/Y Tk —IAVE I JIF-0.4i8 £ 104K/RJF4-BK 598 = 560 - = - - = - - = -
581H 218| £ E-BEAS 660-563 |t'7°3/Y Tk WA VE R JF-04:% 7k 104/RJF4-R 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-705 |¥'7°5/Y Tk —IAVE R JF-0.4i5 & 104/RJF4-BL 598 = 560 - = - - = - - = -
581H 218| £ E-BEAS 660-550 |¥'7°3/Y Tk —IAVE R JF-0.7:% B 104/RJIFT-BK 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-548 |£'7°7/Y 1k =AYV RJIF-0.71% 7& 10A&/RJF7-R 598 = 560 - = - - = - - = -
581H 218| £ E-BIERAS 660-710 |£'7°7/Y Tk A VE R JIF-0.77% & 104/RJF7-BL 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-712 |£'7°7/Y 1k = A VERIF-0.715 7°V=7'799 10K 598 = 560 - = - - = - - = -
581H 218| £ E-BIERAS 660-545 |75/ Tk — LA VESJIF-1.0i% £ 104/RJF10-BK 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-543 |£'7°7/Y 1K = A VERJIF-1.01%5 7~ 10AR/RJF10-R 598 = 560 - = - - = - - = -
581H 218| £ E-BIERAS 660-714 |75/ Tk =LA VESJF-1.0i F 104/RJIF10-BL 598 = 560 - = - - = - - = -
5818 218| £ E-BERAS 660-716 |£'7°7/Y Tk —IAVERIF-1.01% 7°V=7'799 10K 598 = 560 - = - - = - - = -
581H 218| £ E-BERAS 660-903 |A'10yh/ETER —IA'Y1.0mmE R B 104/BPRF6MB 493 = 420 - = - - = - - = -
5818 218| £ E-BERAS 660-905 |N'4Oyh/ETER —IAY1.0mmE S F= 104/BPRF6MR 493 = 420 - = - - = - - = -
581H 218| £ E-BIERAS 681-972 |NA40yh/BTER - A1 0mmEE RS & 104 /BPRF6ML 493 = 420 - = - - = - - = -
5818 218| £ E-BERAS 660-452 |N4Byb/A-N=4y71.2mmE R £ 104 /BPRF8BB 657 = 615 - = - - = - - = -
581H 218| £ E-BIERAS 660-454 |NAOyb/ZA-N=4"y71.2mmE R 7R 104 /BPRFSBR 657 = 615 - = - - = - - = -
5818 218| £ E-BERAS 684-635 |NAAyb/A-N=4"y71.2mmE s T 104 /BPRFSBL 657 = 615 - = - - = - - = -
581H 218| £ E-BIERAS 660-457 |40y A—-N=7"y71 6mmERs £ 104/BPRF8BBB 657 = 615 - = - - = - - = -
5818 218| £ E-EEEA&R 660-459 |N'{AyrA=N"=4"y971.6mmE i F 104 /BPRFSBBR 657 = 615 - = - - = - - = -
5818 218| £ E-BEA&R 660-770 |NA{AYr/ A—N=4"1y71.6mmE s & 104/BPRFSBBL 657 = 615 - = - - = - - = -
581H 218| £ E-EEA&R 660-792 |NAAYM T IWAUER =AYV ImmE S £ 104 /LG2RFSFB 657 = 615 - = - - = - - = -
5A1H 218 ELE-EIERAM 660-794 |NAO9/ I MUFE —IAV0. TmmEE S Ff 104/LG2RFSFR 657 = 615 - = - - = - - = -
5818 218| £ E-EEA&R 660-773 |N{EyM T LEVFR =LAV TmmE S B 104/LG2RF8FL 657 = 615 - = - - = - - = -
5A1H 218 ELE-EIERAM 660-817 |[N'{AYM/ G347 WAUEH —IAV0.TmmE s & 104K /LGRF6FB 480 = 420 - = - - = - - = -
5818 218| £ E-EEEA&R 660-775 |N40yk/ /99K AT99C0.4mmbL 740 & 104/LHSRF8C4B 637 = 615 - = - - = - - = -
518 218 ELE-EIERAM 660-777 |NA4Ov+/ /99K T99C0.4mmb 740 F* 10A/LHSRF8C4R 637 = 615 - = - - = - - = -
5818 218| £ E-EEA&R 660-779 |N40yk/ /99K T99C0.4mmbL 740 7' W—7"F9%9 107K 637 = 615 - = - - = - - = -
5A1H 219 EEE-EIERAM 660-554 | RATA/I+=Y"1h05mm=—F L Fy7 B B 104K /XLRN5-A 588 = 560 - = - - = - - = -
5818 219 E-EEA&R 660-557 | RATA/IT—Y 1M05mm=—F LFy7 & = 104 /XLRN5-B 588 = 560 - = - - = - - = -
5A1H 219 EEE-EIERAM 660-559 | RATA/I+-Y"1h05mm=—F LV Fy7 B S &F 104K /XLRN5-C 588 = 560 - = - - = - - = -
5818 219 E-EEA&R 660-814 | RATA/IF—Y100.7mmE R LR7 £ 104&/XLR7-A 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 581-685 | RATA/IF-Y 1l 0.7mmE & LR7 7* 104/XLR7-B 588 = 560 - = - - = - - = -
5A1H 219 R E-EEA&R 699-001 |G)RATH/IF+= 174 LR7 0.7mm & 104&/XLR7-C 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 660-661 | RATH/M7 )N TH=h/990.35mmE s 2 104 /XKFRN3A 588 = 560 - = - - = - - = -
5818 219| &t E-BERAS 660-664 | RATA/NM7 9 TH=h/990.35mmEEEx 7= 104 /XKFRN3B 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 660-666 | RATH/M7 N TH=h/990.35mmE s & 104 /XKFRN3C 588 = 560 - = - - = - - = -
5818 219| &t E-BERAS 660-668 | RATA/NM7 b THZh/9905mmEB s B 104 /XKFRN5-A 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 660-670 | RATH/ M7 )N TH=h/990.5mmEE s 77 104/XKFRN5-B 588 = 560 - = - - = - - = -
5818 219| &t E-BERAS 660-673 | RATA/M7 b TH=h/9905mmBE s F 104/XKFRN5-C 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 660-675 | RATB/M7 N THZH/990.TmmE R B 104 /XKFRN7-A 588 = 560 - = - - = - - = -
5818 219| &t E-BERAS 660-677 | RATA/M7 b TH=h/990.7mmEBE > & 104 /XKFRN7-B 588 = 560 - = - - = - - = -
5818 219 R E-EEAR 660-679 | RA TS/ M7 N TH=h/990.TmmE R &F 104 /XKFRN7-C 588 = 560 - = - - = - - = -
5818 219| &t E-BIERAS 660-682 | RATA/NM7 b TH=H0.3mmE s 2 104K /XKFGN3-A 588 = 560 - = - - = - - = -
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5818 219| &t B - BIERAS 660-684 | RATAH/NM7yb THZHh0.3mmE T Fr 10K /XKFGN3-B 588 = 560 - = - - = - - = -
581H 219 &£ E-BEAR 579-540 | RATA/M7 )N TH=h0.3mmEE R & 10AK/XKFGN3-C 588 = 560 - = - - = - - = -
5818 219| &t E-BIERAS 660-686 | RATA/NM7 b THZH04mmEE S 2 10K/ XKFGN4-A 588 = 560 - = - - = - - = -
5818 219 EE-BERS 660-688 | RATA/M7 N TH=H0.4mmEE s F7 104 /XKFGN4-B 588 = 560 - = - - = - - = -
5818 219| &5t BE-BIERAS 660-690 | RATA/NM7 b THZh0.4mmE s F 10K/XKFGN4-C 588 = 560 - = - - = - - = -
5818 219| £ E-BERS 660-692 | RATAH/M7 )b TH=Hh0.5mmE s 2 104K /XKFGN5-A 588 = 560 - = - - = - - = -
5818 219| &5t B - BIERAS 660-694 | RATAH/NM7yb THZHh0.5mmE R Fr 10K /XKFGN5-B 588 = 560 - = - - = - - = -
5818 219 £ E-EERAM 660-696 | RATS/M7 b T9=h05mmE s B 104 /XKFGN5-C 588 = 560 - = - - = - - = -
581H 219|E 5 E-BERAS 660-883 |bUif $REE/SHTER —ILAV0.ImmE S £ 104 /BR-CS233 448 = 420 - = - - = - - = -
5818 219| £ 8- BERS 660-885 |PUf SREE/SHTER —IAV0.TmmE S Ff 104 /BR-CS225 448 = 420 - = - - = - - = -
5A1H 219 £ E-EIERAM 660-887 |bUif $REE/SHTMER — LA V0. ImmE R & 104/BR-CS215 448 = 420 - = - - = - - = -
5818 219| £ 8- BERS 660-890 |PUR $REE/SHTER — LA V0. TmmE S #& 104 /BR-CS207 448 = 420 - = - - = - - = -
5A1H 219 £ E-EIERAM 919-864 |bUif $REE/SHTER — LA VO5mmE s 2 54/BR-CLE33 299 = 284 - = - - = - - = -
5818 219| £ 8- BERS 919-866 [PV $REE/SHTER —IAVO5mmE S Ff 54/BR-CLE25 299 = 284 - = - - = - - = -
5A1H 219 £ E-EIERAM 919-868 |bUif $REE/SHTER — LA V0. 5mmE s & 54/BR-CLE15 299 = 284 - = - - = - - = -
5818 219| £ 8- BERS 919-870 |PUR SREE/SHTER — A VO5mmE S #& 54/BR-CLE07 299 = 284 - = - - = - - = -
5A1H 219 £ E-EIERAM 663-579 |FUik SR /MR —IVAVO.TmmE S & 54K/BR-CL33 299 = 284 - = - - = - - = -
5818 219| £ 8- BERS 663-580 |PUR ERE/SHMER - LA V0. TmmE R FF 54/BR-CL25 299 = 284 - = - - = - - = -
5A1H 219 £ E-EIERAM 663-581 |bUik $REE/SHIERN — LA V0. ImmE s & 54/BR-CL15 299 = 284 - = - - = - - = -
5818 219| £ 8- BERS 663-582 |PUK SRE/HTER —IAV0.TmmE S #& 54/BR-CLO7 299 = 284 - = - - = - - = -
5818 224 E£RE-BEAR 631-159 |G)=ZE4A%E /70N A A{A #k 104 /PUS155.13 1,093 = 1017 - = - - = - - = -
5818 224 £ E-BERS 631-160 |G)=Z$ZE/7' 0N A KK % 104K /PUS155.12 1,093 = 1017 - = - - = - - = -
5818 224 E£RE-BEAR 631-162 |G)=ZNE/7 0N A Ak = 104/PUS155.48 1,093 = 1017 - = - - = - - = -
5818 224 £ E-EEA&R 631-163 |G)=ZE$E/7' 0N A KK # 104 /PUS155.6 1,093 = 1017 - = - - = - - = -
5818 224 £ E-BERA&R 631-164 |G)= 2405 /70N R AN K #& 104K/PUS155.4 1,093 = 1017 - = - - = - - = -
5818 224 £ E-EERA&R 631-165 |G)=ZE$E/7' 0N A KKk #FE 104 /PUS155.2 1,093 = 1017 - = - - = - - = -
518 228 EFLE-EIERAM 626-631 |7 7/#KFAvyF—A41VIh-+)yY B/RWYT5-BK 134 = 118 - = - - = - - = -
5A18 228 | £ E-EEA&R 636-320 |£'7° 3/ #AvI-—RIUIh—F)yY T~ 28 /RWYT5-R 134 = 118 - = - - = - - = -
518 228 EFLE-EIEERAM 677-866 |£' 7 7/#RAvI-R1VIh—tyy & 2R AY/RWYT5-BL 134 = 118 - = - - = - - = -
5A18 228 | £ E-EEA&R 678-695 |7 7/ #AvI-—RIUIh—F)yY 2R A £k/RWYT5-G 134 = 118 - = - - = - - = -
518 228 EFLE-EIERAM 626-636 |7 7/#AvYF—AM1VIA-1)yY E/RWYT5-Y 134 = 118 - = - - = - - = -
5A18 228 | £ E-EEA&R 678-696 |t 7 3/ #AvI-—RIUIh—F)yYy 2K A EVY/RWYT5-P 134 = 118 - = - - = - - = -
518 228 ELE-EIEERAM 678-697 |£' 7 3/fRRAYI-R1VIh—Myy 2R A 4LUY /RWYT5-OR 134 = 118 - = - - = - - = -
5A18 228 | £ E-EEA&R 679-519 |¥' 7' 7/#BAvF—R1V9h—MyY 74+7°b— 2R A/RWYT5-LB 134 = 118 - = - - = - - = -
518 228 ELE-EIEERAM 631-120 |G)t'7'7/#FAvy¥— 2 10AK/WYT5-BK 1,140 = 1,082 - = - - = - - = -
5818 228 | £ E-EEA&R 636-316 |G)t 7 7/#Av¥— 7~ 10AK/WYT5-R 1,140 = 1,082 - = - - = - - = -
5818 228 | ERE-EEAR 636-319 |G)t 7' 7/#AvI— F 10AR/WYT5-BL 1,140 = 1,082 - = - - = - - = -
5818 228 EiCE-BIERAS 631-123 |£'7°3/#R A4 9h—t)yy" £ 20K/RWYT5-BK 1,140 = 1,082 - = - - = - - = -
5818 228 £ E-EERS 636-321 |7 3/#AWIF-—FR1UIh—F)yy Fr 20K/RWYT5-R 1,140 = 1,082 - = - - = - - = -
5818 233 | EiCE-BERAS 179-183 |Forestway/A{Ub=h— JUEYLy847" AE-Fits B 10K 1,040 = 1,040 - = 990 (3~) - = = - = =
581H 233 X E-EERR 179-179 |Forestway/A'{UbI—h— JUEYLUE47" HE- ALK B 10K 1,040 = 1,040 - = 990 (3~) - = = - = =
5818 233 | £ E-EER &M 179-177 |Forestway/A' (UM —h— JU%ILV447° -5 7k 10K 1,040 = 1,040 - ind 990 (3~) - = = - = =
5818 233 | £ E-BEAR 179-178 |Forestway/A'{UMI—h— JUEYLUA47 hF- A F 10K 1,040 = 1,040 - = 990 (3~) - = = - = =
5818 233 | £ E-EER &M 179-182 |Forestway/A' (UM —H— JUEILV447" -5 & 10K 1,040 = 1,040 - ind 990 (3~) - = = - = =
581H 233 ELE-EERAR 179-180 |Forestway/A'{UbI—h— JU%YLUE47" RE- UK #& 10K 1,040 = 1,040 - = 990 (3~) - = = - = =
581H 233 | E-BERAS 179-181 |Forestway/A'{UN—h— /udyLys47" a2 #k 10K 1040 = 1,040 - = 990 (3~) - = = - = =
6F1H 235 | ERE-EEAR 639-168 |Forestway/K7Mbk = v—5— £ 12K 405 = 405 387 (5~) = = - = = - = =
681H 235 | E-BERAS 639-169 |Forestway/f74bk' = v—h— 7k 124 405 = 405 387 (5~) = = - = = - = =
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681H 235 | E-BERAS 639-170 |Forestway/k74bk' = v—h— F 124% 405 = 405 387 (5~) = = - = = - = =
6H1H 236 £ E-EERAS 631-221 |G)aY3/kI4 bk’ =b'¥=h— FF £ 104/PM-B102D 838 = 838 - = - - = - - = -
681H 236| £ E-BIEAS 631-226 |G)a53/K7{ M —Nv—h— K=F £ 104/PM-B103D 1257 = 1257 - = - - = - - = -
6818 244 EFXE-BEERS 630-480 |Forestway/{EIEFHLAY K- HMEMA 1.0mm 132 = 148 - = - - = - - = -
6818 244 £ E-BEERAS 634-870 |Forestway/{SIEFHLAY KM - HEMA 1.0mm 10K 1229 = 1,380 - = - - = - - = -
5818 251 | BEHAR 173-332 |TAYRAF—VY/A4LI—r—R iR BI3EE FRB1ER K74/LCJ-4DW 1,460 = 1,460 - = 1,370 (2~) - = = - = =
5A1H 251 EHAR 173-331 |TAYAA—Y¥/A4LY——R R BI3ESE RE1ER 7'79%9/LCJ-4DB 1460 = 1,460 - = 1,370 (2~) - = = - = =
5818 251 | EHAR 173-334 |7A)AA—¥Y/A4LS—r—R L BU5E% £74F/LCI-5MW 1,460 = 1,460 - = 1,370 (2~) - = = - = =
5A1H 251 EHAR 173-333 |[FAYRFT—¥Y/A4LS—r—R iZBI5E 7'59%9/LCJ-5MB 1460 = 1,460 - = 1,370 (2~) - = = - = =
581H 253 BHAR 583-772 | %11 /Pocket Mag #'7¥5" A6%#4R" 7'),—/PM-2743-10 456 = 407 - = 387 (3~) - = = - = =
581H 253 EH AR 583-773 | %44 /Pocket Mag #'7%)" A6%4A" K74+/PM-2743-70 456 = 407 - = 387 (3~) - = - - = -
581H 253 BHA& 583-777 |£%t1/Pocket Mag #'7¥5" A4%#4R" 7'),—/PM-2745-10 1,035 = 914 - = 854 (3~) - = = - = =
581H 253 EH AR 583-778 | %11 /Pocket Mag #'7%)" A4%4 A" K74+/PM-2745-70 1035 = 914 - = 854 (3~) - = - - = -
5818 253 BHA& 637-811 |G)Y=y9/ VY 19NK"vIR 2kg447" ¥)—»/MP-693-G 1048 = 1048 - = 997 (3~) - = = - = =
518 253 EHAR 637-813 |G)Y=v)/ VB INE vIR 2kg¥47" 7" Ib—/MP-693-B 1048 = 1,048 - = 997 (3~) - = = - = =
5818 253 BHA& 573-723 |G)1%3/<F At 4'-99L—/41L-60DM 1853 = 1853 - = 1,760 (2~) - = = - = =
5A1H 262 EF5 A& 608-284 |=FN'V/E B 10T—7° NO.430 F& 8 12mm X £&35m/4301-12 151 = 146 - = 138 (10~) - = = - = =
5818 262 BHEAR 626-564 |ZFn v/ 077 NO.430 & 12mm X 35m/4302-12 151 = 146 - = 138 (10~) - = = - = =
518 262 EF5 A& 626-565 |ZFNU/FE 077 NO.430 #& 12mm X 35m/4303-12 151 = 146 - = 138 (10~) - = = - = =
5818 262 BiEA M 626-556 |=FNV/EEEO0T-7° NO.430 F 12mm X 35m/4304-12 151 = 146 - = 138 (10~) - = = - = =
518 262 5 A& 626-557 |ZFN U/ 077 NO.430 B 12mm X 35m/4305-12 151 = 146 - = 138 (10~) - = = - = =
5818 262 BHEAR 626-572 |ZFnN'V/ZE 077 NO.430 £ 12mm X 35m/4306-12 151 = 146 - = 138 (10~) - = = - = =
6818 265 EHAR 757-863 |Forestway/*uT 149 7—7" 12mm X 50m 230 = 264 - = 254 (5~) - = - - = -
681H 265 BEHEA& 757-872 |Forestway/*yT 109 7—7° 18mm X 50m 360 = 364 - = 354 (5~) - = = - = =
68180 265 FEHAR 757-881 |Forestway/AyT 109 T=7" 12mm X 50m 10% 1,998 = 2280 - = - - = - - = -
681H 265 BEHEAS 757-899 |Forestway/AYT 4»9'7=7" 18mm X 50m 10% 3,180 = 3280 - = - - = - - = -
68180 273 EHAR 768-825 |Forestway/AT/7IMY) 40g 138 = 141 - = - - = - - = -
681H 275 BHEA R 605-840 |Forestway/BIKDY 50ml 24K 1435 = 1560 - = - - = - - = -
6A1H 278 EHAR 129-267 |G 77/hy8—39k A3n—7(170 X 450 X 2mm)/206B 637 = 682 - = 650 (2~) - = = - = =
6H1H 278| EFRAMm 639-307 |G)AI77/hy3—3yFA4(225 X 320 X 2mm)/134B 637 = 682 - = 650 (2~) - = = - = =
6818 278 EHAR 676-180 |G)A I 77/hy4—<yPA3 (320 X 450 X 2mm)/135B 934 = 999 - = 946 (2~) - = = - = =
6H1H 278| EFRAMm 686-782 |G)A L 77/Hy3—3yFA2(450 X 620 X 2mm)/159B 1,800 = 1916 - = - - = - - = -
6A1H 278 EHA R 686-780 |G)4 ) 77/Hy#—<yPA1(620 X 900 X 2mm)/160B 3505 = 3740 - = - - = - - = -
6818 278| EFRAMm 111-900 |G)A 77/ 55 1=23Yhya—<yb A3 #4E'—/223BSNV 1,833 = 1,980 - = - - = - - = -
6H1H 278 5 M 111-899 |G)A 77/ 5 =23 Yhya—vyb A3 7°59/223BSBR 1,833 = 1,980 - = - - = - - = -
6818 278| EFAMm 615-147 |G)A93/hy 749 Iy ELEHR> 300%450mm/¥—-42N 1,680 = 1,880 - = - - = - - = -
6H1H 278 EHAR 672-750 |G)AN77/K frybik'%/187B 180 = 198 - = - - = - - = -
6818 279 EHAR 665-032 |G)4 I 77/hy4— FEEMIEE!/203BSY 284 = 304 269 3~) = = - = = - = =
6H1H 279 EHAR 173-345 |G)A L 77/hy4— FEEMIEE!7')L—/203BSB 284 = 304 269 3~) = = - = = - = =
6818 279 EHAR 173-346 |G)A L 77/hy5— FHEEMEEIE™YY)/203BSP 284 = 304 269 3~) = = - = = - = =
6818 279 EFFA M 667-852 |4 77//NEhys— AT5A/215BS 224 = 232 - = 219 (2~) - = = - = =
6H1H 279 EHAR 680-401 |#V77/hya—EF /N 108 A 7'77—2/SB10KS 160 = 174 - = - - = - - = -
6H1H 279 EHAR 680-400 |4 77/hya—EH /N 508 A 7'77—A/SB50K 618 = 659 - = - - = - - = -
6H1H 279 EHAR 129-266 |1 77/hy4—& X MIE 58 /MTB5KS 123 = 129 - = - - = - - = -
6818 2719 EHERAMA 676-344 |4 77/hv4—EHA/LB10KS 228 = 244 - = 211 (2~) - = - - = =
681H 279 EHAR 676-345 |47/ NI7hy3—% F(K)504K/LB50K 950 = 1,007 890 (5~) = 953 (2~) - = - - = -
5818 279 EBAR 681-967 |77/ FE 2RI (KE F)1042/LBB10KS 255 = 244 - = - - = - - = -
5818 2719 EHAR 681-968 |4 77/45FE 2 H(KE H)504%/LBB50K 1,140 = 1,140 - = 1,116 (2~) - = = - = =
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5818 283| EHERAMm 677-855 |h—Il./DC-218FNy4—Tyb 5ARA/M-218 943 = 940 - = - - = - - = -
581H 284 EHAR 134-917 | 7°5A/aUNh & PK-213/26-366 29,800 = 27,800 - = - - = - - = -
6818 284| EHERAM 518-517 |#—b/£7394L4-%—7+—L&R/CLO-700 598 = 619 - = - - = - - = -
681H 287 EHAR 646-783 |F¥/t L4997 /N 50g(#91754) 62 = 66 - = 52 (5~) - = - - = -
681H 287 BHAR 519-741 |M%/+ L4997 11y #11000K A 210 = 210 188 (5~) = 198 (5~) - = - - = -
5818 287 EHAR 646-784 b5/t LY)y7 K 50g($91182) 62 = 62 - = 50 (5~) - = - - = =
6818 287 BHAR 519-768 |F5v/€ LYYy7" K $31000K A 256 = 256 218 (5~) = 250 (5~) - = - - = -
6818 287 B HA M 646-786 |F5Y/£ LYYy7" $FK $970K 62 = 76 - = - - = - - = =
6818 287 BHAR 756-711 |M¥/¥ L9)97"% K #9500 348 = 398 - = - - = - - = -
681H 287 EHAR 646-787 |F¥/1 L7)y7° U ek #9304 62 = 64 - = - - = - - = -
6818 287 £ A 519-732 |F5%/£ L5Yy7" vk #9100 A 180 = 186 148 (10~) = 153 (10~) - = = - = =
681H 287 EHAR 646-788 |F5 Y/ N5t LYYy7" #965K 62 = 64 - = - - = - - = -
6818 288 EHEA & 519-885 |Forestway/FrdA ARIK 1 KA+ E18{E 260 = 298 - = - - = - - = =
5818 291 | EHFRAM 686-583 |G)¥yIA/H4)77v+324 7')b— HD-10FL3K~B/HD91719 528 = 489 - = 467 (3~) - = - - = -
5818 291 | EE A& 686-664 |G)Yy)A/#9Y779h324% £™) HD-10FL3K.~P/HD91720 528 = 489 - = 467 (3~) - = = - = =
581H 291 | EHAR 686-673 |G)IvIR/H9Y77v+3248 710")— HD-10FL3K.~LG/HD91721 528 = 489 - = 467 (3~) - = = - = =
5818 291 | EHE A 686-718 |G)IyIA/#4)779+328 £I4FHD-10FLIK~W/HD91722 528 = 489 - = 467 (3~) - = = - = =
581H 292 BHAR 179-303 |Y=99/AT7-7"7— E(&t{$)/GP-742-B 198 = 180 - = 170 (5~) - = - - = -
6H1H 296 EHEAR 757-962 |Y=99/A7—7'Ib £ No.10 1000 A /GP-736-/\'7 33 = 34 - = 29 (5~) - = = - = =
6818 296 EHEAR 757-971 |Y=y9/A7=7'Ib #t No.10 20/\F5/GP-736 458 = 540 398 3~4) = 376 (3~4) 352 (5~) = 357 (5~) - = =
5818 298| EH AR 662-172 |7°52/8=5=r¥i#k’y 1S-500CM-B #74}/37-645 680 = 647 - = - - = - - = -
5818 298| EFRAM 662-173 |7°7A/0-5—4 YK’y IS-500CM-B 41)—>/37-646 680 = 647 - = = - = = - = =
581H 298| EH A& 662-174 |7°52/0—5—r k'Y IS-500CM-B 7 I\—/37-647 680 = 647 - = - - = - - = -
5818 298| EFAMm 662-176 |7°7A/0—-5—F YK’y IS-500CM-B t")/37-648 680 = 647 - = = - = = - = =
518 298 EHAR 662-177 |7'5A/8—5—F ¥’y 1S-500CM-B {110—/37-649 680 = 647 - = - - = - - = -
5818 298| EFAMm 665-107 |7°R2/0—-7—% YK’y 74+ 1S-510CM #74}+/38-130 1,120 = 1,087 - = - - = = - = =
518 298 EHAR 665-108 |7°5R/0=7=¥k"Y 74} 1S-510CM ¥")—>/38-131 1,120 = 1,087 - = - - = - - = =
5818 298| EFAMm 665-110 |7'7A/A—7=f¥k’y 74} 1S-510CM 7'),—/38-132 1,120 = 1,087 - = = - = = - = =
518 298| EHAR 665-111 |7°52/8=3= ¥k’ 74} 1S-510CM £'9/38-133 1,120 = 1,087 - = - - = - - = -
5818 298| EFAMm 665-112 |7°73/B=7=4¥k’Y 74F 1S-510CM {1A—/38-134 1,120 = 1,087 - = = - = = - = =
518 299 EHAR 695-326 |G)N—INEEFEER/ 25\ VT 108xt S 7°799/CPN-10-K 284 = 208 - = 198 (3~) - = = - = =
5818 299 EFAMm 695-327 |G)H—NZEFEER/27WNVVF 1080t i 7' )L—/CPN-10-B 284 = 208 - = 198 (3~) - = = - = =
518 299 EHAR 695-328 |G)N—INEEFEER/ 20\ UT 188 xS 7°7v9/CPN-18-K 474 = 460 - = 448 (3~) - = = - = =
5818 299 EFAM 695-329 |G)H—NZEFERR/27WNV VT 188t 7' )l—/CPN-18-B 474 = 460 - = 448 (3~) - = = - = =
518 300 EHAR 614-657 |G)3%3/58 1n"VyF/PN-33 5758 = 5410 - = - - = - - = =
5818 300 EFAMm 614-658 |193/538 A"V FE F(PN-33F)24/PN-33A 1,978 = 1,780 - = = - = = - = =
5818 300 EFFA M 756-891 |143/PN-31 35 10{&/PN-31B 400 = 361 - = - - = - - = -
5818 300 EFAMm 623-397 |h—)l/Ayb —F(NO.122EE Ay M —F)/K-10 341 = 284 - = - - = - - = -
5818 300 EHAR 623-398 |H—I/N'417° 0y HNO.122/124F FAE H)/K-122/124 1,142 = 1,120 - = - - = - - = -
5818 300 EFAMm 756-873 |G)393/3& F127WN UF/PN-31 11,468 = 11,100 - = - - = - - = -
5818 300 EHAR 756-882 |153/PN-31 A& H 24&/PN-31A 2393 = 2162 - = - - = = - = =
5818 300 EFAMm 756-891 |193/PN-31 ¥ % 10{#/PN-31B 400 = 361 - = - - = - - = -
5818 300 EFFA M 756-891 |143/PN-31 35 10{&/PN-31B 400 = 361 - = - - = - - = -
5818 300 BEHA& 612-097 |h—)ZEF2F/Ay+H/K-530 1,409 = 1,380 - = - - = - - = -
5818 300 EHAR 612-098 |h—) B FE2F/AyM—1'/K-500 427 = 355 - = = - = = - = =
6818 301 | EHEAR 521-028 |Forestway/nyF7A°lL B 6Y—F 94 = 98 - = - - = - - = -
581H 301 | EHAR 521-019 |Forestway/NyF7A L B 709—h 797 = 197 - = 772 (2~4) - = 746 (5~) - = =
6818 304 BEHAR 585-146 | G)Forestway/ 4 B &#273447° A44T 204H40%K 636 = 780 - = - - = - - = -
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681H 304 EERAM 585-148 | G)Forestway/ 4 B &#f27%447° A44T 60%H120%% 1,668 = 1,980 - = - - = - - = -
6818 304 EHAR 585-147 |G)Forestway/#R B &#K27%947° A431 204840%% 636 = 780 - = - - = - - = -
6818 304 EHERAM 585-149 | G)Forestway/ 4 B &#f27%447° A431 6048 1204% 1,668 = 1,980 - = - - = - - = -
5818 306 EHEAR 630-340 |7 AN/ AN~ Ei@3mm K74} 5fft/BH-304 418 = 408 - = - - = - - = -
5818 306 EHEA M 630-343 |7AN/EAEKAN— EE6mm #7974+ 5ff/BH-307 418 = 408 - = - - = - - = -
5818 306 EHEAR 630-344 |7AN/EARNN - EigImm 74+ 5ft/BH-313 418 = 408 - = - - = - - = -
5818 306 EHEA M 630-345 |7 AN/E AN - TiG12mm £71+ 5fft/BH-308 418 = 408 - = - - = - - = -
6818 307 EHAR 521-595 |Forestway/4YT v9A7A I /N H 1765 53 = 56 - = - - = - - = -
6818 307 EHAR 521-604 |Forestway/4YT v9A7A I /N F- 176 K 53 = 56 - = - - = - - = -
681H 307 EHAR 521-613 |Forestway/4UTv9A5A° ) B0 & 1204 53 = 56 - = - - = - - = -
6818 307 | EHAR 521-622 |Forestway/4YT vJA7N b H 7k 12054 53 = 56 - = - - = - - = -
681H 307 EHFAM 521-631 |Forestway/4YT 92738 K & 905 53 = 56 - = - - = - - = -
6818 307 | EHAR 521-649 |Forestway/4YT 927N K 7% 904 53 = 56 - = - - = - - = -
5818 307 EHFAM 521-658 |Forestway/4YT vIA7A W BE/NYY /M T 17605 381 = 359 - = - - = - - = -
5818 307 | EHAR 521-667 |Forestway/AT vJAIN L HE /N YY) /N 5 17605 381 = 359 - = - - = - - = -
581H 307 | EHAR 521-676 |Forestway/AVT vIAIN L BE BN Y) h FH 12005 381 = 359 - = - - = - - = -
5818 307 | EHAR 521-685 |Forestway/AT vJA7N I HE /N YY) B 75 12005 381 = 359 - = - - = - - = -
581H 307 | EHAR 521-694 |Forestway/AVT v)A3A L BE BN Y)Y K F 9005 381 = 359 - = - - = - - = -
5818 307 EHAR 521-703 |Forestway/{YT v)A7AN L HE /N Y K FF 9005 381 = 359 - = - - = - - = -
6818 312| EHAR 637-817 |G)IF IyHA/KIM MK —F MX A4%{R"/MXWH-A4 552 = 648 - = 548 (3~) - = = - = =
681H 312 EHAR 650-067 |7 Iy)A/KTMME—F MX A3#4R/MXWH-A3 743 = 798 - = 738 (3~) - = = - = =
5818 312| BHAR 600-941 |G)IF IyHA/ KM bk —F MX/MXWH-A2 1,188 = 1,070 - = 997 (3~) - = = - = =
518 312 EHAR 117-420 |G)¥Y Iy)R/KT4ME =M MX 74+ /MXWH-WD 2,183 = 1,980 - = 1,880 (2~) - = = - = =
581H 322| EFAMm 683-774 | XY IyJR/IY 2ybAAN - BRE/MSLB-220-3P-H 283 = 283 - = 276 (5~) - = = - = =
518 322 EHAR 650-857 |9 IvHR/I9 %9bRY LN — F1/MSLB-220-3P-W 283 = 283 - = 276 (5~) - = = - = =
581H 322| EFAMm 650-858 | Y7 IyJR/¥Y %ybAY b~ FE/MSLB-220-3P-C 283 = 283 - = 276 (5~) - = = - = =
5A1H 323 EHAR 650-728 |Y=v9/35 29y 7 TY7° V] S/CP-965 160 = 160 - = 143 (5~) - = = - = =
5818 33| EHAM 673-795 |Y=v4/39 29y 7 07 WIM/CP-964 179 = 179 - = 161 (5~) - = = - = =
5A1H 323 EHAR 673-796 |Y=v4/35 29y 7 V7 VIL/CP-963 226 = 226 - = 204 (5~) - = = - = =
5818 33| EHAM 650-790 |Y=v4/39 2997 Y7 V] LL/CP-962 312 = 312 - = 281 (5~) - = = - = =
6818 324 EHAR 637-799 |G)Y=vY/#BE&FAYY 2ybIv% 1.5kg BB/MG-731-W 240 = 268 - = 248 (5~) - = = - = =
681H 324 EHAM 637-801 |G)Y=vyY/#B5& FAYY 29bI9% 1.5kg H/MG-731-B 240 = 268 - = 248 (5~) - = = - = =
5818 324 EHAR 637-802 |G)Y=v%/kBER A1VY #yb7v% 3kg B/MG-743-W 341 = 328 311 (10~) = 298 (10~) - = = - = =
5818 324 EHAM 637-805 |G)Y =Y/ B AV 29bIvY 3kg B/MG-743-B 341 = 328 311 (10~) = 298 (10~) - = = - = =
5818 324 EHAR 637-806 |G)Y=v4/kBaR A1V #yb7vY 3kg ¥8/MG-743-OR 341 = 328 311 (10~) = 298 (10~) - = = - = =
5818 324 EHAM 637-808 |G)Y=vY/#BE&AAYY 29bIvY TkgEA/MG-757-W 618 = 588 560 (10~) = 538 (10~) - = = - = =
5818 324 EHAR 637-810 |G)Y=v)/kBER A1V 2yb79% Tkg H/MG-757-B 618 = 588 560 (10~) = 538 (10~) - = = - = =
6818 359 | EHEAMm 605-849 |G)Forestway/ A RIE! & L 10{EA 381 = 428 - = - - = - - = -
5818 367 77V T A& 337-246 |G)393/77y+774L{NEOS)A4-S 4-11A'7'IL— 10fft/7-NE10B 548 = 493 - = - - = - - = -
5818 367|774V A& 983-401 |G)a93/779bI74L{NEOS)A4-S #1)-7"4")—10f/7-NE10DG 548 = 493 - = - - = - - = -
5818 367 77V T A& 983-873 |G)343/75y+774{NEOS)A4-S 7' —4"L— 10fft/7-NE10DM 548 = 493 - = - - = - - = -
581H 367|271V AR 960-255 |G)393/77y+ 774 {NEOS)A4-S 71ULy} 10f/7-NE10DR 548 = 493 - = - - = - - = -
5818 367 77V T A& 984-726 |G)a%3/779774L{NEOS)A4-S #7574+ 10f/7-NE10W 548 = 493 - = - - = - - = -
6818 367|77MU T S 194-636 |G)3193/779+ 774V <NEOS>A44TEEL 4—34R 7 Ib—/7-NEW10B 84 = 95 - = - - = - - = -
6818 367 77V T A& 194-637 |G)393/779h 774V KNEOS>A44TEELAY—7"5")—»/7-NEW10DG 84 = 95 - = - - = - - = -
6H1H 367|774V A& 194-638 |G)393/779b 7741 L<KNEOS>A44T EEL 7' =9 'L—/7-NEW10DM 84 = 95 - = - - = - - = -
6818 367 77V T A& 194-639 |G)393/779MI71<KNEOS>A44T BEL 74ULyb /7-NEW10DR 84 = 95 - = - - = - - = -
6H1H 367|774V A& 194-640 |G)393/779b771L{NEOS)A44T [EEL 47K74F/7-NEW10OW 84 = 95 - = - - = - - = -
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6818 367|771V A& 194-655 |G)393/779bI741L{NEOS)A44T &L 4-14RX7 IV — 10/ 731 = 797 = = - = -
6818 367|771 A& 194-656 |G)3193/779+ 771V {NEOS)A44T E&LL #Y=79)-V 10/ 731 = 797 - = - - = - - = -
6818 367|771V A& 194-657 |G)393/779F 7741 L{NEOS)A44T [E&LL 7' -7 'L— 10f 731 = 797 - = - - = - - = -
6818 367|771 A& 194-658 |G)3193/779+ 774V {NEOS)A44T E&LL 74uLyb 10/ 731 = 797 - = - - = - - = -
6818 367 771U A& 194-659 |G)393/779FI71L{NEOS)A44T &L 47174+ 101 731 = 797 - = - - = - - = -
581H 367 771U T A& 190-665 |G)3493/F1—7 771IVINEOS A48T 1E45mm 4—112"7 Ib— 10f 4680 = 4670 - = - - = - - = -
5818 367 77V T A& 190-666 |G)393/F1—7 771IVNEOS A44T&1E45mm7 5v410f/7-NE630D 4680 = 4670 - = - - = - - = -
581H 367|771 A& 190-667 |G)393/F1—7 771WNEOS A44T & ig45mm #4t"— 10/ 4680 = 4670 - = - - = - - = -
581H 367 271U T A& 190-668 |G)393/F1—7 771WNEOS A44TE51E45mmAY-7"7"—y 10/ 4680 = 4670 - = - - = - - = -
581H 367|771V A& 190-669 |G)3193/F1—7 771VINEOS A44T & i@45mm h—3{ULyb 10/ 4680 = 4670 - = - - = - - = -
581H 367 77U T A& 190-670 |G)393/F1—7 774IWINEOS A44T EWE45mm 47474+ 10/ 4680 = 4670 - = - - = - - = -
581H 367|771V A& 190-671 |G)3493/F1—7 771IWINEOS A48T 1E65mm 4—112"7 Ib— 101l 4958 = 4950 - = - - = - - = -
5818 367 77U T A& 190-672 |G)393/F1—7 771 IVINEOS A44T&1E65mm7 5v410f/7-NE650D 4958 = 4950 - = - - = - - = -
581H 367|771V A& 190-673 |G)343/F1—7 771WINEOS A44T & 1E65mm £/t~ 10/ 4958 = 4950 - = - - = - - = -
5818 367 77U T A& 190-674 |G)393/F1—7 771 WNEOS A44TE1@65mmAY—7"4")— 10/ 4958 = 4950 - = - - = - - = -
581H 367|771V A& 190-675 |G)393/F1—7 771VINEOS A44T & 1E65mm H—3{ULyb 10/ 4958 = 4950 - = - - = - - = -
5818 367 77U T A& 190-676 |G)393/F1—7 7741WNEOS A44T i 1E65mm #7£74F 10fR 4958 = 4950 - = - - = - - = -
581H 367|771V A& 190-677 |G)3493/F1—7 771 IVINEOS A48T 1E95mm 4—112"7 Ib— 101 6,027 = 6,020 - = - - = - - = -
581H 367 77U T A& 190-678 |G)393/F1—7 774IVINEOS A44TENEI5mm7 59410/ /7-NE68OD 6,027 = 6,020 - = - - = - - = -
581H 367|771V A& 190-679 |G)393/F1—7 771WNEOS A44T & 1895mm #4t"— 10/ 6,027 = 6,020 - = - - = - - = -
581H 367 77U T A& 190-680 |G)393/F1—7 774WINEOS A44TENEI5Smm7!)—7"9"1— 10 6,027 = 6,020 - = - - = - - = -
581H 367|771V A& 190-681 |G)393/F1—7 771 IWINEOS A44T EHE95mm h—34vLyh 10fR 6,027 = 6,020 - = - - = - - = -
581H 367 77U T A& 190-682 |G)393/F1—7 774IVINEOS A44T EWE9I5mm 47474+ 10/ 6,027 = 6,020 - = - - = - - = -
5818 367 77T A& 166-121 |G)393/)9 774 WNEOS A44T EWE27mm 4—342"7 L — 301 8,197 = 8190 - = - - = - - = -
5818 367 77U T A& 166-122 |G)343/Yv7 771 WNEOS A44T EiE27mm 7°5v4 30fR 8,197 = 8190 - = - - = - - = -
5818 367 77V T A& 166-125 |G)343/Y»7 774 WINEOS A44T E1E27mm #4t'— 30fR 8,197 = 8190 - = - - = - - = -
5818 367 77U T A& 166-127 |G)393/)9 774 WNEOS A48T iE27mm F4b41)—7" 30 8,197 = 8190 - = - - = - - = -
581H 367|271V RS 190-611 |G)343/Yv7 774 WINEOS A44T EHE27mm H—34ULyl 30fR 8,197 = 8190 - = - - = - - = -
5818 367 77U T A& 190-612 |G)3493/)0% 774 WNEOS A48T F1@27mm 47474k 30/ 8,197 = 8190 - = - - = - - = -
5818 367 I7A) T A& 190-458 |G)343/)9' 774 WNEOS A447E1E33mm4—14A'7 )b—/7-NE430B 347 = 347 324 (10~) = 319 (10~) - = = - = -
5818 367 77U T A& 190-459 |G)393/Yv9 774 WNEOS A44T BIE33mm 7'5v4/7-NE430D 347 = 347 324 (10~) = 319 (10~) - = = - = =
5818 367 I7A) T A& 190-460 |G)3493/)u% 774 WNEOS A45T HiE33mm 4t —/7-NE430DB 347 = 347 324 (10~) = 319 (10~) - = - - = -
5818 367 77U T A& 190-461 |G)393/Y% 774 WNEOS A44T BIE33mm74+4Y—7"/7-NE430G 347 = 347 324 (10~) = 319 (10~) - = = - = =
581H 367|271V RS 190-462 |G)3493/)9 774 WNEOS A48T EIEI3mmA—Y{ Lyh'/7-NE430R 347 = 347 324 (10~) = 319 (10~) - = = - = =
5818 367 77U T A& 190-463 |G)393/)09 774 WNEOS A44T F51E33mm 47571/ 7-NE430W 347 = 347 324 (10~) = 319 (10~) - = = - = =
5818 367 77V T A& 190-613 |G)3493/)u9 774 WNEOS A44T EHE33mm 4—342"7 L — 301 8994 = 8990 - = - - = - - = -
5818 367 77V T A& 190-614 |G)343/Yv7 771 WINEOS A45T E1E33mm 7°5v4 30/ 8994 = 8990 - = - - = - - = -
5818 367 77 T A& 190-649 |G)343/Y»7 774 WINEOS A44T E1E33mm #4/t'— 30fR 8994 = 8990 - = - - = - - = -
5818 367 77V T A& 190-650 |G)343/YvY 774 WNEOS A44T EHE33mm 54+41)—7" 30/ 8994 = 8990 - = - - = - - = -
581H 367|271V AR 190-651 |G)343/Y»7 774 WINEOS A44T EHE33mm H—4ULyl 30fR 8994 = 8990 - = - - = - - = -
5818 367 77V T A& 190-652 |G)343/Yv7 774 WINEOS A45T E1E33mm 47174+ 30/ 8994 = 8990 - = - - = - - = -
5818 368/ 771U A& 190-591 |G)3%3/f8 A 744 —NEOS(PP- 350 &£ L)¥F30mm10fft4—14 R’ 1,025 = 1,020 - = - - = - - = -
5818 368 I7AU T & 190-592 |G)3493 /18RI 745 —NEOS(PP- 358 £ L)Y F30mm 10/ 7'594 1,025 = 1,020 - = - - = - - = -
5818 368/ 771U A& 190-593 |G)343/{@AI74) % —NEOS(PP-3i8 &£ L)¥F30mm 10fft #{E'— 1,025 = 1,020 - = - - = - - = -
5818 368 I7AU T & 190-594 |G)393/{E 5743 —~NEOS(PP-3i8 £ L)¥F30mm 1054 +41)-7 1,025 = 1,020 - = - - = - - = -
5818 368/ 771U A& 190-595 |G)393/{E A 74)L4 NEOS(PP - 350 £ L)Y F30mm10fA—v/ULyb 1,025 = 1,020 - = - - = - - = -
5818 368 I7AUV T & 190-596 |G)343/{E R 74I 5 —NEOS(PP- 352 & L)¥F30mm 10/ #7£74F 1,025 = 1,020 - = - - = - - = -
5818 368/ 771U A& 194-660 |G)393/{E A 7414 —<NEOS>A4 4—141R"7 JLl— 10fft/A4-NEIF-B 659 = 637 - = - - = - - = -
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(20184F) ZEHEI THEE Al THEE AT rHE% AT rHE%
581H 368/ 77 U A& 194-662 |G)393/{ERI741% —<NEOS>A4 7 ),—4L— 10fft/A4-NEIF-DM 659 = 637 - = - - = - - = -
581H 368/ 771 A& 194-661 |G)393/{@RI741 4 —(NEOS)A4 #Y=7"9")—> 10ff 659 = 637 - = - - = - - = =
5A1H 368/ 77 UV A& 194-663 |G)393/{E R 745 —(NEOSYA4 74ULy} 10f/A4-NEIF-DR 659 = 637 - = - - = - - = -
581H 368 771 A& 194-664 |G)393/{ERI 7415 —(NEOS) A4 #7174+ 10f/A4-NEIF-W 659 = 637 - = - - = - - = -
5818 368/ 77 U A& 190-464 |G)393/774 VK 9yJANEOS A4 EHE102mm 4—34R" 7 )b— 257 = 239 - = - - = - - = -
581H 368| Z7AU T A& 190-465 |G)343/774 VK yIANEOS A4 E1E102mm 7°5v%/A4-NELF-D 257 = 239 - = - - = = - = =
5818 368/ 771U A& 190-466 |G)393/774ViEyJANEOS A4 F1E102mm #4t'—/A4-NELF-DB 257 = 239 - = - - = - - = -
581H 368 771 A& 190-467 |G)3193/774 L 9JANEOS A4 EHE102mm 41)-7"9"1)—Y 257 = 239 - = = - = = - = =
5818 368/ 77 UV A& 190-468 |G)393/774 LK yJANEOS A4EEHE102mmA—v{uLyb /A4-NELF-R 257 = 239 - = - - = - - = -
581H 368 77U T A& 190-469 |G)343/774 VK yIANEOS A4 E1E102mm #7574+ /A4-NELF-W 257 = 239 - = - - = - - = -
5818 368| 771U T A& 190-653 |G)343/774 L yJANEOS A4 E1E102mm 4—31R°7 Ib— 4{A 951 = 939 - = - - = - - = -
581H 368/ 771U A& 190-654 |G)343/774VE v9ANEOS A4 EiE102mm 7'5y%) 4E 951 = 939 - = - - = = - = =
5818 368| Z7MU T A& 190-655 |G)343/774 Vi yIANEOS A4 EIE102mm #4t'— 41& 951 = 939 - = - - = - - = -
5818 368/ 771U A& 190-656 |G)3493/774bK yIANEOS A4 EHE102mm #1—7"4")—y 4{8 951 = 939 - = - - = - - = =
5818 368 I7AU T A& 190-657 |G)393/774Vik y9ANEOS A4 EHE102mm H—v{ULyb 4@ 951 = 039 - = - - = - - = -
581H 368/ 771U A& 190-658 |G)3193/774 L 9IANEOS A4 E1E102mm 47574+ 4E 951 = 939 - = - - = = - = =
6818 368| 271U T A& 193-852 |3493/#'99AIA WNEOS) 774 Vi v) A Fl/L-BNE85-10M 900 = 959 - = - - = = - = =
6818 368|771 A& 193-853 |3493/% 925~ W{NEOS) 774 VK "y4 R B /L-BNE85-10W 900 = 959 - = - - = = - = =
6818 368| 271U T A& 193-854 |293/#'yYAFA° WSNEOS) 774 Vi y) AR 9+ Fi/L-BNES85-5M 600 = 639 - = - - = = - = =
6818 368/ 771 A& 193-855 |3193/% yJAFA L(NEOS) 774 VK yJ AR AU+ FI/L-BNES85-5W 600 = 639 - = - - = = - = =
5818 370|271 T A& 577-863 |G)XUI YV L/XU0 774N A—N—FyFiBEE ECE60mm A4 F 696 = 665 - = 646 (3~) - = = - = =
5818 370|771V A& 577-872 |G)XV4' Y L/%V 774N A—1N—FyF iR EC/E60mm A4 §'L— 696 = 665 - = 646 (3~) - = - - = -
5818 375|271 A& 579-620 |G)Forestway/74!) TV EAE774VA43T F 30mm 442 = 442 - = 426 (3~) - = - - = -
681H 375 77AV T R& 581-986 |G)Forestway/# )V T FEAEI71 VA48T & 30mm 40ff 15,380 = 15,580 - = - - = - - = -
5818 375|774V R & 579-621 |G)Forestway/# )V T FEAZI7AVA43T F 50mm 396 = 396 - = 375 (3~) - = = - = =
681H 375\ I7AV T R& 581-987 |G)Forestway/# )V T FEAEI71VA44T & 50mm 401 11,400 = 11,728 - = - - = - - = -
5818 375|774V A& 579-622 |G)Forestway/# )V TN FEAZI7IVA43T F 80mm 586 = 586 - = 569 (3~) - = = - = =
681H 375\ I7AV T R& 581-988 |G)Forestway/# )V T FEAEI71VA44T & 80mm 301 15,360 = 15,580 - = - - = - - = -
5A1H 375|774V A& 579-623 |G)Forestway/#!)V TV BAE 774 VA448T & 100mm 703 = 703 - = 680 (3~) - = = - = =
681H 375 77AV T R& 581-989 |G)Forestway/4!)y TV EAZ 774 VA43T F 100mm 20ff 12,430 = 12580 - = - - = - - = -
6H1H 375 77V T A& 698-017 |GINE7/ FRAZEN17'K 7741 A44T LLIE30mm/SG03541 312 = 436 - = - - = - - = -
6H1H 375 77AV T R& 698-018 |G)nE'7/ FEAZEN' 17K 771V A4%4T ELITE30mm1 21/ SG03541 3406 = 4748 3246 3~) = = - = = - = =
6H1H 375 77V T A& 698-019 |GINEF/ FRAZEN17'K 7741 A45T LLIE50mm/SG03542 291 = 428 - = - - = - - = -
6818 375 77AV T R& 698-020 |GINEF/ FRAEN 17K 7741V A44T L LIE50mm1 2t /SG03542 3131 = 4280 2903 3~) = - - = - - = -
6H1H 375 77V T A& 698-021 |GINE7/ FRAZEN17'K 7741 A45T LLITE80mm/SG03543 417 = 538 - = - - = = - = =
681H 375\ I7AV T R& 698-023 |GINE7/ FRAEN 17K 7741V A44T L LIE80mm1 2t /SG03543 4503 = 5888 4274 2~) = - - = - - = -
6A1H 375 77V T A& 698-024 |GINE7/ FEAZEN17' K771 A48T ELIE100mm/SG03549 489 = 680 - = = - = = - = =
6818 375|771V A& 698-025 |GINE'7/ FEAZEN 17K 771V A447 LI 100mm 121ff} 5303 = 6,980 5017 2~) = - - = - - = -
6H1H 379 77V T A& 688-143 |G)¥V7 Y L/ BFI74MN vF ELE30mm A44T §'L—/407374 313 = 317 - = - - = - - = -
6818 3719|77AU T S 621-114 |G)¥V7 Y L/BFI7ANN vF ELES0mm A44T §'L—/407574 317 = 327 - = - - = - - = -
6H1H 379 77V T A& 621-116 |G)¥V9 Y L/BFI74MN vF LLIESOmm A44T §'L—/407874 459 = 473 445 3~) = 460 (3~) - = - - = -
6A1H 319 77AV T R& 621-118 |G)¥9' Y L/ RFITANNvF ELIE80mm A44T 4'L— 10 4180 = 4186 - = - - = - - = -
6818 385|774V A& 769-104 |Forestway/PPYUy¥ 774 A4 E1i@30mm E'E'yh 7 I — 10/ 1815 = 1819 1,602 (6~) = 1,679 (2~5) - = 1,609 (6~) - = =
6818 385|074V AR 769-113 |Forestway/PPYy¥ 774V A4 Eig30mm E'E'yh' )= 104 1815 = 1819 1,602 (6~) = 1,679 (2~5) - = 1,609 (6~) - = =
6818 385|774V S R & 769-122 |Forestway/PPYy¥' 774 A4 & 1i@30mm E'E'yb 1I0— 101 1815 = 1819 1,602 (6~) = 1,679 (2~5) - = 1,609 (6~) - = =
6818 385| 77 AU S 769-131 |Forestway/PPYy9 7741l A4 FH1E30mm E'E'yN ALYy 10/ 1815 = 1819 1,602 (6~) = 1,679 (2~5) - = 1,609 (6~) - = =
6818 385|771V A& 769-149 |Forestway/PPYy¥ 774)V A4 E1E30mm E'E'yHEY) 101 1815 = 1819 1,602 (6~) = 1,679 (2~5) - = 1,609 (6~) - = =
681H 397|771V A& 629-170 |G)3%3/7790I74WV A54T & 10fft/7-V12B 558 = 568 - = - - = - - = -
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6818 397|774V A& 629-171 |G)aY3/779bI741LV AS4T #% 10ft/7-V12G 558 = 568 - = - - = - - = -
681H 397|771 A& 629-173 |G)343/75y774WV A54T E'v9 10f/7-V12P 558 = 568 - = - - = - - = -
6818 397 77MV T R& 629-174 |G)343/75y+ 774V AS4T & 10ft/7-V12Y 558 = 568 - = - - = - - = -
681H 399 I7AU T & 677-393 |Forestway/ & IREHMEI7IN Ad4T & 161 = 173 - = - - = - - = -
6818 399| 77 AU RS 677-395 |Forestway/EiR{BMEI71 A44T % 161 = 173 - = - - = - - = -
6818 399 I7AU T & 677-396 |Forestway/HR{HE#EI74I A4IT H'L— 161 = 173 - = - - = - - = -
6818 399 77MU S A& 677-397 |Forestway/ & Ig{H#EI74)L A49T EVY 161 = 173 - = - - = - - = -
6818 399|771 A& 677-398 |Forestway/ & Ig{H#EI71)L A44T & 161 = 173 - = = - = - _ = _
6A18| 399|774 Y FM 676-915 |Forestway/ B 1R{HHEI71V A45T F 10 1,500 = 1,561 - = 1513 (5~) - = = - = -
6A1H 399 I7A) T R& 676-916 |Forestway/ & TRERHEI7MIL A44T #& 104 1,500 = 1,561 - = 1,513 (5~) - = - - = =
6818 399 I7AU T A& 676-918 |Forestway/E 1R{EHEI74) A44T ¥'L— 10 1,500 @ 1,561 - = 1,513 (5~) - = = - = =
6818 399|771V A& 676-919 |Forestway/H@{H#E7I741L A49T £V 101 1,500 = 1,561 - = 1513 (5~) - = = - = =
6818 399 I7AU T A& 676-920 |Forestway/E1R{H#EI74)V A43T F 10 1,500 @ 1,561 - = 1,513 (5~) - = = - = =
5818 400 77A) T R& 683-781 |G)aY3/H N ybI7A N (HESY) A44T #% 10ff/7-90G 2660 = 2446 - = - - = - - = -
581H 400 77T & 643-572 |G)AY3A/H'WykI74l A44T H'L— 10f/7-90M 2,660 = 2446 - = - - = - - = -
5818 400 771 A& 629-268 |G)AY3/H N ybI74 A43T VY 10f/7-90P 2660 = 2446 - = - - = - - = -
5A1H 400 77T & 643-563 |G)aY3/H'WykI74l A44T FH 10fft/7-90B 2,660 = 2446 - = - - = - - = -
681H 403/ 771) > A& 896-112 | G)Forestway/L3—774)y A43T 7')b— 156 = 168 - = - - = - - = -
6818 403|274V T RE 896-121 |G)Forestway/L3—7741 A48T )=y 156 = 168 - = - - = - - = -
6818 403/ 771) U A& 896-139 | G)Forestway/L3—=774) A43T Lyt 156 = 168 - = - - = - - = -
6818 403|274V T RE 896-148 |G)Forestway/L3—774/V A458T 110- 156 = 168 - = - - = - - = -
681H 403/ 771) > A& 896-157 |G)Forestway/L4=774)k A437 7'I,— 10ff 1490 = 1580 - = - - = - - = -
6818 403|274V T R 896-166 |G)Forestway/L4—=774) A43T 4= 101 1490 = 1580 - = - - = - - = -
6818 403 77U & 896-175 |G)Forestway/L8—774/V A457 Lyt 10f 1490 = 1580 - = - - = - - = -
68180 403 77V & 896-184 |G)Forestway/L3—774)V A43T 410— 101 1490 = 1580 - = - - = - - = -
6818 409 77T & 657-233 |9V L/A%vbvy BiR&A—MUERT—R A5 8’95 L—/2360 1,715 = 1,768 - = - - = - - = -
6H1H 409 77V T A& 192-849 |¥V9°Y Lh/A39bey SBIR&A—MIRANT—R JK8/23603R 1,715 = 1,768 - = - - = - - = -
5818 409 77T & 657-232 |39V h/A%y by BIR&A—MURSHT—R A5 FHk/2360 1,990 = 1,768 - = - - = - - = -
6818 409 77V T A& 657-231 |9V L/ A%y ey BIRRA—MURGHT—A A5 1LYV /2360 1,715 = 1,768 - = - - = - - = -
6818 409 77T & 192-848 |%V7°Y L/A%ybey BIRRA—MIRIHT—R £'V/2360EY 1,715 = 1,768 - = - - = - - = -
6818 A IZ7A) T A& 585-351 |Forestway/4)¥—7"v) A48T 10£ 9t 7 138 = 148 - = - - = - - = -
6H1H A | 774V T R& 585-369 |Forestway/9)¥—7"v9 A48T 106yt & 138 = 148 - = - - = - - = -
6H1H A IZ7A) T A& 585-378 |Forestway/4)¥=7"v) A44T 10&"r9b 8'=99'L— 138 = 148 - = - - = - - = -
681H 41\ 77A4) T A& 585-504 |Forestway/%'JY—7"v49 A43T 10K ryh 7= 10ff 1,289 = 1,380 - = - - = - - = -
68180 M1T7A)V T R 585-513 |Forestway/7)¥—7"v9 A44T 10K yk & 10 1,289 = 1,380 - = - - = - - = -
6818 411 T7A) T R& 585-522 |Forestway/9)¥—7"v4 A44T 108"yt =95 L— 10 1,289 = 1,380 - = - - = - - = -
6818 A TZ7AI T A& 585-387 |Forestway/9)¥—7"v) A43T 209k Ff 189 = 198 - = - - = - - = -
6818 M1o27A) RS 585-396 |Forestway/4)¥—7"v) A48T 20F ob & 189 = 198 - = - - = - - = -
6818 A TZ7AI T A& 585-405 |Forestway/#X—7"v9 A44T 205" 9k =494 L— 189 = 198 - = - - = - - = -
6818 M1o27A) RS 585-531 |Forestway/4')¥—7"v) A48T 20 ryb 7= 10fR 1,767 = 1,880 - = - - = - - = -
6H1H M| TPV T A& 585-549 |Forestway/7)¥—7"v9 A43T 20Fryb & 101 1,767 = 1,880 - = - - = - - = -
6818 A TZ7A) T AE 585-558 |Forestway/4¥—7"v) A48T 20 r9b #°=95'L— 10f 1,767 = 1,880 - = - - = - - = -
6H1H M| TPV T A& 585-414 |Forestway/9)¥—7"v) A43T 40Kyt Ff 347 = 368 - = - - = - - = -
6818 M1o27A) RS 585-423 |Forestway/4)¥—7"v) A48T 40F rob & 347 = 368 - = - - = - - = -
6H1H M| TPV T A& 585-432 |Forestway/#)X—7"v9 A43T 40K 9k =499 L— 347 = 368 - = - - = - - = -
681H M1o7A) RS 585-567 |Forestway/4)¥—7"v) A48T 40F rob 7= 61 1947 = 1,980 - = - - = - - = -
6F1H M| TPV T A& 585-576 |Forestway/9)¥—7"v) A43T 40§19t & 6fft 1,947 = 1,980 - = - - = - - = -
6818 A T7A) T RS 585-585 |Forestway/4¥—7"y) A44T 40§ ryb 4°=95'L— 6ffft 1,947 = 1,980 - = - - = - - = -

12/14




ARFEMR TR R I T,

RYa—LTAZAY U QIRFEAMIE S 1E LY DIRFEMIETT .

RYa—LTARAHIUD

RY1—LTARNIUMD

RY1—LTARHIUR)

ZEEH %ﬁgjﬁﬁu AEXES BRETH IR Se A% BRSEIEE (#=) HR5EifitE (=) HR5EffitE (%=) AR SE(fE (=) HR5EffitE (%=) AR SE(fE (=)
(20184F) ZEHEI THEE Al THEE AT rHE% AT rHE%
681H 46| D74) RS 895-581 |Forestway/ 7V ¥—7"v9E#k A44T 2-4-305% 1004K 598 = 680 - = - - = - - = -
6818 49| 774) > A& 895-581 |Forestway/%Y¥—7"vyE&#k A44T 2-4-307% 1004 598 = 680 - = - - = - - = -
681H M9 D7A) RS 629-619 |Forestway/4)¥—7"v)EHK A44T 2-4-307% 3004 1,704 = 1,980 1,584 (2) = 1,880 (2) 1434 3~) = 1,680 (3~) - = =
6818 429 771V T A& 638-913 |Forestway/L—9)¥—fIL4 — A45T 104IRE & 1001 2,657 = 2799 - = 2,782 (2~) - = = - = =
6H1H 429/ 774 & 638-915 |Forestway/L—IL9)¥—f %'~ A447 10#UURZE B 100fH 2,657 = 2799 - = 2,782 (2~) - = = - = =
6818 438|771 A& 895-608 |Forestway/ & RIK Ty M$H)¥—FIL 54— A4 104K 249 = 268 - = - - = - - = -
681H 438 274) RS 789-264 |Forestway/ % RlIH 7y Mty —hia'— A4 100%L 1,866 = 1,980 1,500 (5~) = 1,680 (5~) - = = - = =
6818 439|771 ) VA& 658-733 |Forestway/h7—9)¥—HI 4 — A4 {10— 204K 243 = 268 - = - - = - - = -
681H 439 D74) RS 628-612 |Forestway/#7—7)¥—HIL ¥~ A4 §1)—Y 208K 243 = 268 - = - - = - - = -
6818 439 771) > A& 658-732 |Forestway/A7—7¥—HIL 4 = A4 7'IL— 204K 243 = 268 - = - - = - - = -
6H1H 439|771 A& 659-102 |Forestway/A7—%¥—HIL4' = A4 Lyl 208K 243 = 268 - = - - = - - = -
6818 439 771) > A& 658-734 |Forestway/A7—7)¥—FIL4 = A4 Ty9R 208K 243 = 268 - = - - = - - = -
6H1H 439|771 A& 658-736 |Forestway/#7—7)¥—HI4'— A4 /10— 100K 1,060 = 1,280 980 (6~) = 1,180 (6~9) - = 1,080 (10~) - = =
6818 439 771) > A& 628-620 |Forestway/#5—9)¥—HlL% = A4 )=V 100%% 1060 = 1,280 980 (6~) = 1,180 (6~9) - = 1,080 (10~) - = -
6H1H 439 771U A& 658-735 |Forestway/#7—7¥—HIL3' = A4 7" JLb— 1003 1,060 = 1,280 980 (6~) = 1,180 (6~9) - = 1,080 (10~) - = =
6818 439 771) > A& 659-103 |Forestway/#5—9)¥—HIL%— A4 Lyt 100%K 1060 = 1,280 980 (6~) = 1,180 (6~9) - = 1,080 (10~) - = -
6H1H 439|771V A& 658-737 |Forestway/#7—7)¥—klL3'— A4 3992 1004 1,060 = 1,280 980 (6~) = 1,180 (6~9) - = 1,080 (10~) - = -
6818 443\ 774) A& 676-922 |G)Forestway/EREER IEN—FA-F7-2 A3 104K 2,630 = 2630 2,332 (10~) = 2,524 (2~9) - = 2,333 (10~) - = =
6818 443|774V RE 676-921 |G)Forestway/BRIEX IGN—FA—-F7—-2 B4 1048 2,123 = 2330 1,904 (10~) = 2,124 (2~9) - = 1,905 (10~) - = =
6818 443\ 774) > A& 630-372 |G)Forestway/ERIER IGN—FA-F7-2 A4 108K 1,400 = 1,400 1,292 (10~) = 1,360 (2~9) - = 1,328 (10~) - = =
6818 444\ 274) TR 630-363 |Forestway/Y7M1—F -2 A4 103 989 = 998 790 (20~) = 790 (20~) - = - - = -
681H 444\ 274) RS 630-364 |Forestway/%Y7M—F4¥—2 B5 104K 817 = 848 - = - - = - - = -
681H 444|774 ) T B & 630-365 |Forestway/Y7M1—F7—2 A6 10%% 379 = 398 - = = - = = - = =
6818 444\ 274) RS 630-366 |Forestway/Y7M—F47—Z A7 104 284 = 208 - = - - = - - = -

6818 459 77 M) R & 593-478 |Forestway/ X ER77# A4-B5F 104K 1,799 = 1840 1513 (4~9) = 1,680 (2~3) 1,447 (10~) = 1,580 (4~9) - = 1,480 (10~)
6H1H 459 | D74 )T R 593-469 |Forestway/ X ERTFFE B4-A4F 108 2,658 = 2990 2276 (4~9) = 2,670 (2~3) 2,181 (10~) = 2,470 (4~9) - = 2,360 (10~)
5818 467 S B A /—hZE-HE- 82150 | 921-456 |3M/KAb-4yb /-t EFFA 1I0— 100%K X 401"y} /6544-Y 5220 = 4250 - = - - = - - = -
5818 467 | S B A /—FEE-H1E - 8121 | 921-459 |3M/H AM-{yb St A 4B 1004 X 801 'yh'/5004-K 4800 = 4429 - = - - = - - = -
5818 473 3B A /—hIGE - 315 - 883 | 628-645 |G)Forestway/ St A 50 X 15mm 48 7Y—+ 25 630 @ 551 580 3~) = 539 (3~) - = = - = =
5818 AT3| S B A /—EE-H 15 - 81%L | 628-646 |G)Forestway/ 5B A 50 X 15mm &4 25 630 = 551 580 3~) = 539 (3~) - = = - = =
5818 473| A B A /—hIGE-$if5- 812l | 628-647 |G)Forestway/ S A 75 X 14mm 487Y—} 20/ 630 = 551 580 3~) = 539 (3~) - = = - = =
5818 473| B A /—hIGE- £ 5 - 2L | 628-648 |G)Forestway/ S\t A 75 X 14mm B & 7Y—b201H 630 = 551 580 3~) = 539 (3~) - = = - = =
5A1H A73| SB A /—EE - $ 15 - 812L | 628-638 |G)Forestway/ St A 75 X 25mm 4&7Y—F 20 660 = 615 640 (3~9) = 589 (5~) 599 (10~) = = - = =
5818 473| S B A/ —hIGE- 5 - 8%l | 628-643 |G)Forestway/ S A 75 X 75mm 47Y—} 101 730 = 694 710 (3~9) = 665 (3~9) 669 (10~) = 645 (10~) - = =
5A1H A73| SB A /—EE - $ 15 - 812L | 628-640 |G)Forestway/ St A 75 X 50mm 4&7Y—F 10f# 680 = 627 650 (3~9) = 598 (3~9) 619 (10~) = 588 (10~) - = =
5818 A73| S B A /—hEE-$1E - 821 | 628-642 |G)Forestway/ vt A 75 X 50mm 1IA— 10§ 680 = 627 650 (3~9) = 598 (3~9) 619 (10~) = 588 (10~) - = =
5818 473| St A /—h G E- - 1L | 628-649 |G)Forestway/ St As 75 X 127mm 110— 5 600 = 522 580 (3~9) = 507 (3~9) 549 (10~) = 497 (10~) - = =
5A1H 493| S A - /—h-{GE- 3 - %L | 558-963 |Forestway/3#HlAE SHEEM 10/ 2369 = 2247 - = 2,188 (5~) - = = - = =
5818 496 | S A /—h{GE-$ - #1L | 558-477 |Forestway/HH &I E JHE T 1004k x 10/ 599 = 561 - = 540 (5~) - = = - = =
6818 509| 3B A /—h-GE- 5135 8841 | 603-591 |G)y77h5H 14 A1 855 m 1008/K85-K1 889 = 929 - = - - = - - = -
681H 509| 5B A /—h{GE-$15- 88%L | 603-592 |G)Y77hE11E F1 855 m 50081/K85-K1 4275 = 3980 3,808 3~) = 3,860 (3~) - = = - = =
5818 509| S A /—h-GE- $15- 84l | 603-595 |G)Y77MEE F12 855 m 5004%/K85-K2 2599 = 2490 2504 3~) = 2,410 (3~) - = = - = =
581H 509| SB A /—h{GE - $15- 8831 | 603-596 |G)Y57M IS F3 852 m 1004%/K85-K3 597 = 488 - = - - = - - = -
581H 509| S B A /—hEE- $HE5 - #1%L | 603-597 |G)Y77+FE £3 855 m 50081/K85-K3 2418 = 2160 2,157 3~) = 2,090 (3~) - . = - = =
581H 509| S A /—h{GE- $15- 88%L | 603-598 |G)Y77ME11E 4 852 m 10040/K85-K4 621 = 577 - = - - = - - = -
5818 509| S A /—h-GE- 515 - 814l | 603-599 |G)Y77MEH1E F4 855 m 50048/K85-K4 2,839 = 2780 - = - - = - - = -
581H 509| S A /—h{GE- $15- 8811 | 603-601 |G)Y77ME11E 5 852 m 10004k /K85-K5 5640 = 5570 - = - - = - - = -
5818 509| S A /—h-GE- $15- 84l | 603-602 |G)Y77MEI1E £6 855 m 1004%/K85-K6 496 = 449 - = - - = - - = -

13/14




ARFEMR TR R I T,

RYa—LTAZAY U QIRFEAMIE S 1E LY DIRFEMIETT .

RYa—LTARAHIUD

RY1—LTARNIUMD

RY1—LTARHIUR)

ZEEH ;f'fk/ HF3 AEXES BRETH IR Se A% BRFE(fiiE (#=) HR5EifitE (=) HR5EffitE (%=) AR SE(fE (=) HR5EffitE (%=) AR SE(fE (=)

(2018%F) ZEHEI THEE Al THEE AT rHE% AT rHE%
581H 509| B A /—hEE - S - #1%L | 603-604 |G)Y77+1E £6 855 m 10004%/K85-K6 4899 = 4330 - = - - = - - = -
681H 509| S A /—hGE - $15- 8111 | 603-605 |G)Y77MEI1E 7 852 m 1004%/K85-K7 445 = 448 - = - - = - - = -
581H 509| B A /—hEE - S - #1%L | 603-606 |G)Y77+F1E 7 855 m 10004%/K85-K7 4384 = 3790 - = - - = - - = -
5818 509| S A /—hGE - $15- 8811 | 603-607 |G)Y77MEI1E F8 855 mi 1004%/K85-K8 293 = 286 - = - - = - - = -
581H 509| B A /—hEE - £ - #1%L | 603-611 |G)Y77+511H K3 705 m 10042/7-604 189 = 189 - = 181 (5~) - = = - = =
5818 509| 5B A /—hGE- $15- 8141 | 603-616 |G)Y77MEH1E £4 70g m 10088/7-602 126 @ 126 - = 102 (5~) - = = - = =
681H 512| A B A /—hGE- $E- 88120 | 603-651 |IN AT X/ BRIV FEE RS L—-1008/H80-N3Y' L-WT 1085 = 1,131 - = - - = - - = -
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